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« 1L%) PB=10.30  /QB=10.41
53300m 4) 4 33.72
100m 7h1  10.51 1.3
7100m 18) 4rB 10.46 1.2
3200m 19) 4rl  21.07 1.5
73100m 2h2 10.63 0.3
%200m 2h1  21.28 2.0
%5200m 4rA 21.58 0.4

3#) PB=10.38  /QB=10. 40
53200m 1l 21.78 1.9
5200m X 1s2 2170 2.3
73200m 4) 33 20.85 0.3
5100m X ) 1h2 10. 2.9
%5100m 15) 1 10.40 1.2
%5100m 1s1 10.57 0.3

- FIfF) PB=10.43  /QB=10.45
%5100m 1A 10.75 2.0
53100m 43)  8h2 10.61 2.0
7100m 1 10.70 2.0
Bioom X 1h3  10.75 2.6
%5100m 1 10.72 0.5

< (lif) PB=10.44  /QB=10.46

mo Irl  10.70 1.5
93100;“ 1 10.70 2.0
93100“\ 1 10.74 ~1.4

100m 36) 1si  10.58 1.6
5 100m 1 10.69 0.1
%5100m 1h4  10.79 0.1

* KBR) PB=10.07 /QB 10. 14
#100m 10.69 -2.2
100m JE 2 10. 46
93100m 1 10.34 0.0
73100m 1s3 10.54 0.0
55100m 2) 1h1  10.18 1.3
53100m 2rA - 10.29 0.0
73200m 3) 12 20.80 1.0
%200m 1 21.27 -1.3
%5100m 1 10.21 0.0
95100m 1h1 10.27 0.1
75100m 1sl 10.77 -1.3

3HUR) PB= 10 42 /QB=10.44
93100“\ 22) 1rB 10.51 0.0

F100m X )1 10.31 3.4
Bioom  x 1hi  10.42 2.4
%3100m 8 10.71 -1.2
%5100m 4s2 10.71 0.5

* ) PH 10.22  /QB=10.22
53100m 2 10.53 3.4
//200m 22) 1 21.13 0.3

100m 1 10.62 1.0
5 100m 1h2 .75 -1.7
100m 13) 5h2 37 2.0
53100m 2rB .2

200m 8r3 .3
H100m x ) 7 2.9
3100m 2 .3
93100m 1h6 .0
%100m 1s3 .1

1JKK55) PB=10.46  /QB=10.54
F100m 69)  8hl 10.66 1.3
53100m 7B 10.68 1.2
J5100m X 7hl 10.68 2.4

- JLff) PB=10.21  /QB=10.27
#100m 0Pl 10.56 2.0
55100m 8) em 10.29 1.3
53100m 1B 10.38 1.2

2 fnik) PB=10.25  /QB=10.25
%5100m 2 10.57 0.0
93100m 1h2  10.69 0.4
73200m 27) 3rC 2121 1.8
ioom X 5 10.40 2.5
55100m 5) 2h2  10.25 2.0
r/'}100m 5rA  10.42 0.0

Hioom X 8 10.37 2.9
5100m 1hd  10.44 0.8
53100m 2 10.50 -1.2
95100m 2s1 10.60 0.3

< T3E) PB=10.33
93100m .5
7100m .0
7100m .2
53100m 21) .0
93100m .3
75100m 3s1 10.79 ~1.3

« JLfif) PB=10.21  /QB=10.21
93100m 1rl 10.49 0.7
73100m Irl 10.54 0.7
55100m 3) 2hl 10.21 1.3
55100m 4rA 10.41 0.0
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%100m X 6 10.30 2.9
55100m 2 10.45 0.0
%100m 1h3 10.72 1.2
5100m 1s2  10.60 0.1
+ KBK) PB=10.28  /QB=10.46
J5100m X Irl 10.62 4.0
H100m Irl 10. 1
53100m 2 10. .4
55100m 22) 1 10. .6
%100m 1h2 10. 5 .3
55100m 4 10. .0
53100m 1h4  10.55 0.5
55100m 252 10.62 0.1
- #Z%) PB=10.09  /QB=10.25
%100m 0P 10.55 1.8
53100m 5) 4hl 10.25 1.3
75100m TrA 10.49 0.0
1 %) PB=10.38  /QB=10.38
%360m 1 i6.77
B 60m 2) 2 75
5360m 1h4  i6.84
3200m x 1 21.42 3.6
75100m 19) 6h2 10.47 2.0
5100m 5rB 10.52 1.2
55200m 32) 6r2  21.29 1.0
55100m 1h1 10.61 1.9
%100m 2 10.66 ~1.6
5200m 3 21.40 0.3
F50) PB 10. 38 /QB=10. 40
ZOOm 21.38 2.
5200m x ) zhs 21.34 3.0
44%%) PB=10.55  /QB=10.55
J3100m 117)  2rl 10.74 0.6
37LHR) PB=10.49  /QB=10. 49
53100m 2r 10.69 2.1
J5100m x 2rB 10.69 2.9
H200m Ir 21.76 1.6
g200m X 20P1 3.6
55200m 8rl 1.5
53100m X 4 2.5
%100m 49) 1h2 0.9
55100m 2 3
%100m 1s2 .5
%200m 48) 1 .0
2 [Kfy) PB=10.08  /QB=10.08
#100m 1 10.37 0.0
5100m 1hl 10.25 1.0
53100m 1) 1h2  10.08 2.0
%100m 1rA  10.16 0.0
53200m 1) 1r3  20.66 0.3
)7101) X 4 10.13  2.¢
%1oom X 2h3  10.43
« KPR) PB=10.50  /QB=10.50
53100m 22) 1 10.51 0.8
55100m 1h2  10.72 -0.4
$100m X ) 10.50 2.5
%100m 3 10.51 0.0

[ 241 fREs FHA 91 6.25 185~ 80 (1 K
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5.12 S g
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4. 2¢

4.2

5.

5.

519 1 !

5.19 £ HUH AR

5.19 i & HH ARG

[131] Hhv7 09y 593, 5.31 179- 68 (H K
4.01 H K H KRB (111

4.07 Kk HUER - HRORHEE

’é‘@k) PB=H CLAldik/QB=%E & Fldk
124E HANENL) Rl

- (L) PB=20.48  /QB=21.07

%300m 1) 33.72
53100m 7hl . L3
75100m 18) 4rB .46 1.2
55200m 19) 4rl 2L 1.5
53100m 2h2  10.63 0.3
55200m 2hl  21.28 2.0
55200m 4rA - 21.58 -0.4

3 ) PB=20.58  /QB=20.64
53200m Ihl 2178 1.9
%3200m X 1s2 21.70 2.3
55200m 4) 3r3  20.85 0.3
%100m X ) 1h2  10.34 2.9
55100m 15) 1 10.40 -1.2
%100m 1sl 10.57 0.3

+ H0) PB=20.56  /QB=20.56
%5100m X 2 10.53 3.4
%5200m 22) 1 2113 0.3
55100m 1 .0
53100m 1h2 7
75100m 13) 5h2 0
5100m 2rB .2
55200m 8r3 .3
B100m X ) 7 .9
%100m 2 3
H100; 1h6 0
55100m 1s3 .1

1050 PB=21.14  /QB=21.14
5100m 1rl 10.72 1.7
%100m 32) 1 10.57 2.0
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3200m 23) 1 .2
3200m 2h2 .2
5100m X ) 2h2 .9
55100m 7 .2
95100m 4s1 .3
73200m 2h4 .8
55200m 2 21. .6
55200m 252 21.21 0.3
3REEH) PB=20.95  /QB=20.95
#200m 43) 3 21.35 0.5
~;ﬁ) PB=20.59  /QB=20.59
100m 164) 10P5  10.78 0.4
“'znom 4 21.46 0.6
3200m 5) 4r3  20.87 -0.3
Hooom X ) 1 20.82 2.6
H200m X 1h2  21.46 2.5
- E) PB=20.42  /QB=20.55
200m 1 2112 L2
9 100m Il 10.62 -1.2
55300m 3) 3 33.65
55100m 12) 4h2 10.36 2.0
53100m 3B 10.39 1.2
% 200m 8) 5r3  20.89 -0.3
- T4) PB=20.53 /QB=20.53
Ho00m X Ir3  21.03 2.5
% 100m 75) 1r3  10.67 -2.6
77300m n o1 32.67
3200m 2) 2r3  20.68 -0.3
75200m 1h2  20.87 0.5
%200m IrA  20.80 -0.4
- T4) PB=20.22  /QB=20.49
3200m 1 21.00 0.6
55100m 8) 5h1  10.29 1.3
55100m 6rA  10.44 0.0
3200m 8) 6r3  20.89 -0.3
73100m 1 10.38 0.3
53100m 1s2 10.78 -2.8
3200m 1h3  20.94 0.1
4@KS) PB=21.01  /QB=21.01
%5100m 3 0.75 2.0
3200m 2 21.48 0.6
J5200m 1r2 21.39 -0.6
%200m 13) 2rl  21.01 1.5
J5100m X ) 4h3  10.49 3.4
93100“\ 32) 3 10.57 -1.2
100m 352 69 0.5
91200m 1h5 3
%5200m 4 . .6
3200m 1s1  21.27 0.3
1 #A) PB=21.15  /QB=21.15
53100m irl  10.80 1.6
100m 47) 102 10.62 1.4
J3200m 25) 2 21.15 0.2
%200m 1h3  21.60 -1.2
55200m 1hl 2141 -3.1
5200m 7 21.44 -1.6
5200m 3s1  21.30 -0.3
3AH) PB=20. 91 /QB 20.91
Ho00m X 21.52 2.5
%200m | 21.20 0.6
J5100m X ird  10.76 2.3
93200m 1) 1rl  20.91 1.5
F100m X ) 1h3 10.37 3.4
5100m 5 10.62 -1.2
%5100m 43) 1s2 10.61 0.5
5200m 1h2  21.13 0.0
75200m 5 21.28 -1.6
%200m 1s2  21.20 -0.3
1 f—;x;) PB=20. 97 /QB=20. 97
i6.
Jmom 2) 2 6. 75
5560m 1hd  i6.84
53200m X 1 21.42 3.6
7100m 19) 6h2  10.47 2.0
53100m 5B 10.52 1.2
55200m 32) 6rz  21.29 1.0
93100“\ 1h1 10.61 1.9
100m 2 10.66 -1.6
5200m 3 21.40 0.3

- HriE) PB=20.71
%

/QB=21. 03
6 21.31

200 0
% 100m 142) 1rl  10.76 0
3200m irl 21.29 -1.
73200m 16) 3rl  21.03 1
Hooom X 1 21.03 2
J5200m X 1hl  21.20 2

— L3R - FliH) PB=20.78  /QB=20.78
H100m 4r2 10. 6
55200m 3r3  2L.7
5200m 1 21.
7200m 1h14 21
#200m 1sl 21. 2F
7100m 200 1 10.
53100m X ) sl 10.
73100m 1rB4 10 °
#200m 6) 2r2 20.
55100m 3 10.
9}100m X 1h5 10,

100m Isl  10.6¢
91200m 1hd  20.99
55200m 2rA 21.22

- fhZ5) PB=20.38  /QB=20.89
#100m u 10.67 1.
53200m 21.23 0.
55100m 10) 3h2 10.35 2.
53100m 8rA  10.67 0.
55200m 12) 7r3  20.99 0.
3200m 1hl 2115 2.
5200m 3rA 21.32 -0.
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[287] SEICHIKER 90.11.22 174- 63 (VZfrK
4. 14 75 5UHR '\Zﬁﬁ

4. 14 P4 5UHR

5.03 & JF

5.10 & J&

511 & J&

511 B &

5.12 & &

513 & J&

[337] BH

4.01 FIHTK

4.08 %

1.08 1 %

4.22 Hi

5.03 4% JF

5.11 Fi fil

5.12 Fi Bl

[342] (LI PN
4.15 ﬁ \)\TXM){

4.15 [H 32 HONKEERRE

4.29 JK SIS AR [EpR

4.29 JKES IR [

5.03 4 Jf

5.06 %%} /77/7UJHUI’7
5.12 [H 57

4 K)
%5200m

$200m
55200m
5100m
%100m
$100m
55200m
5200m

4 )
55100m
5200m
%5200m
H100m
5200m
%100m
#100m

2 )
#100m
H100m
J3100m
53100m
%5200m
H100m
55100m

2012 B 8B P 108E

PB=20.96  /QB=20. 96
X )1 20. 88
X lhl  21.08
512 21.19

16) 1hl  10.43

1 10. 69

1s2 10.64

x 1sl1  21.45
16) 1 21.03
PB=20.87  /QB=20. 87
X Irl  10.74
2 21. 46

lhl  21.48

2 10. 67

13) 4r2  21.01
69) 1h3  10.66

X ) sl 10. 63
PB=20.62  /QB=20.62
1 10. 37

1hl 10. 25

1) 1h2  10.08
1rA  10.16

1 13 20. 66

X 4 10.13
X 2h3  10.43
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[#5] K4 AEAH HR-RE (TR BEK) PB=F1 CLFlEk/QB=TEH Ak
HHE S it %ér! 124 HAMAND) Gk Rk
[ 9] s fEBL 91 5 7173-59 (B K 3 KK) PB=46. 5z /QB=46. 52
4.06 RJEH " KA 93400m 48. 14
4. pre : % 400m |0P| 47.82
4. ke (552000 55400m Irl  48.01
5. %3400m 3h3  48.34
73400m 1s2 47.62
P 5400m 5) 1 46. 52
o uﬁ:‘iﬁﬂﬁk 53400m 1 47.31
O dhlE 87, 6.19 179- 72 (I X/ - 79K PB=46.02  /QB=46. 14
N »u&)wﬁir(%’ [=]) 5400m Irl 47,
bz |- %5200m 42) 3 21. 34 0.6
a!'MJLIW-’r %5400m 3) 3r2  46.14
W,ﬁi;o 8 177- 65 (. K 4 JKJk5) PB=46.25  /QB=46.28
§ FOR R %400m 1h1  48.15
4.20 vty b ~UY Yy L— %5200m 38) 4rB  21.31 1.0
4.20 bty b ~U Ry L— J5400m TrA 4744
5.03 4% 0 ] [ % 400m 1) 512 46.95
5.12 [E L B %400m 552 47.75
R mt 91. 1.21 171- 58 (K 4 T3%) PB=46.89  /QB=16.89
HARRES S BRI 55400m 1 47.70
%Ik % 400m 33) 6rl  47.61
[EvA J3400m 3h3  48.28
A F400m 551 48.31
& CREERAC - 5Tff) PB=46.28  /QB=46.51
JE 400m 41) 1 47.72
I 5400m 1hl 48. 00
87. 9.18 177- 73 CRERE - i) PB=45.16 /QB=45.23
UGN KR 5200m 10P1  21.44 0.6
ﬁ,xhj_ 5300m 2) 2 32. 69
% 400m 1) 1r2  45.47
5200m 38) 2 21.31 1.3
%5200m 1hl 21.39 0.1
4. 9 170- 61 (£ K 157%E) PB=47.00  /QB=47.00
NEFRS 1% 93400m 20P1  48.24
3 75400m 45) Trl 4777
53400m 4h1 48. 31
%400m 6s1  48.46
[§:R:SN 4 fh75) PB=46.59  /QB=46. 5
53400m Ir2 47,
%5400m 6r2  47.°
93400m 1h2 47
73400m 3s2 AT,
5400m 6) 2 46.
(RHTR AK5E) PB=46.79  /QB=46.
75400m 3rl 47
%5400m 1h1
5400m 1sl
75400m 6) 1
5800m 1hl
55800m 32) 4
. 9 173- 69 (FHOK M2E51) PB=45.81  /QB=45.81
& 55100m 189) 3rA  10.80 -0.8
%ﬁf%/\ 55400m Irl  46.57
2 %3400m 2) 2r2  45.81
[275] IR 24T 89. 7.20 1 [CE=t - #iZ%) PB=45.84  /QB=45.84
4.15 [E 31 A g #400m 30P1  48.31
5.03 4% JF %400m 8r2  47.53
5.19 B & 75400m 12) 2 16.98
5. % % 400m 1h3  47.83
K ik 94, 3.12 181- 74 (H K 15#8) PB=47.16  /QB=47. 16
4.07 K TR - B R 5400m 82) 2 48.23
[286] S#PY I 911111 182- 68 (%K 3 KWK) PB=47.26  /QB=47.26
5.27 fik & o BB %5400m 73) 2 48.16
2 170- 63 (& +i@ < pPZ%) PB=45.77  /QB=46.87
it GET3ME) 55200m 101) 4rl 2164 2.0
5400m Irl  46.93
E5il % 400m 10) 1 46. 87
AFHA %400m 1h2  46.94
ARG 55200m 4ht 2171 0.9
B L’«}’df» ﬁ%_uo 1;_14%;8 72 (R K T4’>§Iu> PB=47.02  /QB=47.02
4.15 [@ 31 SN KR 3400m 1 48. 50
5.03 4% 3 e e [ %400m 24) 5r1  47.40
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5.12 [# 3% LS 400m 1h3  48.02
5.12 [ 3% 1 : 53400m 3s1  47.95 [173] #hAk K 92. 2.14 166- 60 (HILFBEiR 3 EHE) PB=1.49.86 /QB=1.49.86
5.13 @ % = H400m 4 47.45 4.07 NEFHT HULFEFER - 35 5 K0E ik 800n 2 1 3
; ) 5.03 & JF I T 7800m 60)
[331] AU 3 90.10.17 179- 70 (kFE K 4fA) PB=46.79  /QB=46.79
4.01 K RPN ENEHE)] 3200m 1r2 21,27 17| [190] [ER B 87. 8.29 172- 65 (S C/L¥ 2 « HUAL) PB=1.50. ¢
4.21 FHE PR AR %5200m 1 2110 =11 | 414 HIRKEEE B ARG (2220H)  5800m
4.21 FHE free 75200m 20) 1hl  21.09 0.0 4.22 # A HULERTFAE 55800m
5.12 [H 7 J5400m Ihl  47.70 4 A %ﬁ-’ﬁsﬂ# 53800m
5.12 [H 31 7400m Isl  47.72 I HHA G 73800m 27)
5.13 @ Sz 5400m 6) 1 16.79 " ( .
B # 83 7.26 174- 65 (SWAC - HU) PB=1.49.58 /QB=1
[334] BIAK WEE 92, 3.20 172- 66 (sk 3ERF) PB=46.34  /QB=46.34 5 SR SRR (Fi20) 93800m s 1
3.23 & b hE AR J3400m 15) 1 47.12 2 WA HEORTHE 23800m 6 L
4.08 5 % R AR F400m 1 47.33 WA HORTFHE 800m 1h3  1.5¢
5.12 & FBE 4 5400m 1 47.48 AL =JEFHll FskILR 7 2 / %3800m 2 1.
~ H IR KHEE  H KR B (ﬁv‘zzwul) H800m 8) Irl2 1
[339] “ZeHk  —#f 90.10.29 170- 65 (Fxik 4550) PB=46.41  /QB=46. 41 B HH ARFEEER H800m 3 1
3.24 5 b h#E R E PR 2 53200m 17 3 21.71 1.8
4.08 &1 % H wF J5400m 2 48.25 [N ] 7. 7 183- 68 (FI{K%: « H5E) PB=1.48.84 /QB=1.50.04
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[#& 5] K4 AEAR HR-RE (TR - BRGK) PB=H CLACHK/QB=H H ALk H K H BB (1m0 J3600m 3) 3rl 118
HH 5 Bk FEH 124 HANERD Al x iﬂ %/fsj:fWHf*m gzsoo". ) 2 151
—————————————————————————————————————————— % il A800m 13) Irl 1
b 75800m 2h2 1
AR 92.10.17 177- 57 (A{AK 2 #7%) PB=1.50.15 /QB=1. 9 [H 1 5800m 252 1
S F R 2 (B T3 7800m 12) 1rl 1 [ES VA 53800m 4 1
B A Jyxoom 3h3 1
B s 53800m 5s1 1 AR EA 91 1.26 173- 67 (AKX 4111F1) PB=1.49.62 /QB=1.
X B HARICER B A RBIRER 2 (522200) - 53800m 33) drl4
EA 93. 6. 8 175- 61 (I K 1 Jefif) PB=1.50.73 FRASEE £ 800m 2
IRt 2 (520m) 53800m 90) &K 7800m 6rl
kA 75800m 2h1
ik 86. 5.15 168~ 56 (J AC - FiE) PB=1.48.8 9 [F 7 5.800m 2s1
y ES 53400m [ 55800m 3
H400m 28) zhl 47,51
:,gggm 5 3|z %.' E“"?h /»5‘&*86&3:;%1 178- 68 (F{&%: " - B§E) PB=1.47.96 /QB=1.49.36
800m h .5 i #3800m 1 1.53.05
i TR FAE 55800m 3h1 1.54.04
10 178~ 62 (vrfik 45UHS) PB=1.49.45 /QB=1 % el [ #800m 5r2  1.50.31
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[107] Jise 4% 93. 3. 1175- 67 (H K 2 F:F) PB=1.48.03 /QB: e & GRS R #1500m 2 3.48.50
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5.19 [E 7 ‘5"7’800m 1sl [icps m} ,léh FA %ISOOm 1r2 3.51.21
5.20 [E 7 [Ed] 5800m 1 [LE HUAD H800m 1 1.52.15
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5.12 7§ B 51500m 4
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£ TrEmpk 2 5.00 4.20 9ty b o B AEpk 0P 7.81 0
PR E kR a2 (F58[H1) Jﬂﬁwwﬁ 9 1 i5.20 4.21 WW/} ~ 7 U V—— 5 tErE IlInv  7.55 0.3
4.29 K J:Jﬁc k =B 5 A MEBE 4 7.51 0
KB 81 9.28 176- 73 (£7 B — - HH) PB-5.30 /QB=5.30 5.06 wz >V 2R Bk 4 7.56 1.7
9 fL M HENEFHE T ek HEP 5.13 & 5i] B Ak 4) 1 7.82 1.9
9 M 7 EPEFHE 5-CAE 2 3
H K H R 2 (55200)) I 1 [248] W& #iw] 89.10. 1 173- 68 (JZfifibely - Jldp) PB=7.73  /QB=T.72
& H A8 T HER K TP Bk DEC 4.29 HRAH) fm\*é)\/ H—=s L TR 18) 1 7.55 0.5
& B H AR T 5 DEC 5.20 {ettf RIFF R THE B AEpk 1 7.47 1.2
3 KW HA&H&« b3 G- 1
[249] W& 52 92.12. 5 179- 69 (H K 2 KMK) PB=7.87  /QB=7.87
[ S 89 11,22 179~ 69 (E%*T F el - /QB= 3.24 JI|E K MR e 2> (558[m)) 5 gk 1 7.20 0.9
25 i # LI 52N 5 5 i 4.14 Jg JER 2 (5 111) iRk X 1 7.46 3.2
&l € = 9 1 4.21 : DU K25 42 B g Bk 2 7.33 0.5
L 5 1 5.04 /K AR HTR PRk 2 7.53 0.8
29 JEFy I ‘5"7’ 7 5.19 BESRAAAE B AEpk 3) 1 7.87 1.8
& n 5 3
# o Frs (BE10[]) Tk 1 [272] s #— 88.12.27 177- 67 UNBF LA - ) PB=7.72  /QB=T.72
4.28 M| 4 TN YL TE =30 S AR PRk 1 7.25 0.7
KM it 88, 4.15 175~ 64 (BRiserlibkli - #1%%) PB=5 5.13 KR/ PR T3 e E Bk 31) 2 7.43 1.1
B f OT ENETAHE BBk . X
N - S ERE R AR T [312] #)11 4LifE) PB=7.83  /QB=T.66
=ZUR W\JIH = 5 21 FEBLR BmEpE X 1 7.19 2.
4K KT % 5.19 BikEEEE x ) 13 7.27 2.4
JEUFE B 89. 5.23 173 68 (HIFAC [313] ik 2 ) PB=7.79  /QB=T.79
H O IR FRER (5 /‘Wiﬁﬂét 21) 4.01 Sk 5 A MEBE o1 7.79 1.8
4.29 IRk BiEE X 3 7.51 .4
A 1 178 67 (PR 3EH) PB=5. 60 4.29 JKR gk 3 7.48 0.1
I bk % 5.19 [ GykEsk < 4 7.62 3.7
IPN \l?:»fn:&% Bt 5.19 [H % Bk 4% 7.40 1.6
m % A 5
R AHRM 2 (55101 5 2 177- 70 (HxkEd) ) PB=7.74 /QB=T.74
NS R R E % 3) =) =X (EI) e 1 7.31 0.5
KT At % 2 (4530m1) Bk 8) 1 774 1.0
i LSy % ‘El BiEmwEE X 2 7.42 4.8
5 HIRUK HUOR R (F520R) bk PoyE 2% 7.31 1.9
= =] e g — 5 = .
<BFERBHISEED2012FEE/RE> <BF=EBHHHZED2012F X E/ME>
[F5] K4 EEAH HR-KE (TR - B PB=F CLAlEk/QB=EE [#E5] K4 AEAH HR-KE (TR - k) PB=F CLECEk/QB=FE F Tk
HH 5T e FEH 124 HANARD Al HH 5 B FEH 126 HAARD)  plRt aek
[ 19] 511 Kl 81. 9.19 179- 74 (NOBY - KBZ) PB=8.09  /QB=7.80 [ 21] % K~ 90. 9.20 168- 59 ([d K 47 f|> PB=15.82  /QB=15.82
3.26 HUKWK HORBR T 3 A gy BEiEsE X 1 7.63 5.7 4.13 755U R4 %= 1 15.21 0.5
4.29 & )& KBRIF A — =73 T apk 5 1 7.80 1.7 5.06 L 1@ 7)1 B X 2 15.16 2.7
5.19 J& i B 74 SE 3 Bk 1 777  LT| 5.06 A fh ) 2% 15.08 0.6
5.20 J& IGF EICES=Ril 55100m 142) 6 10.76 0.0 5.11 & J% 42) 3 15.26 ~1.4
[ 66] i Mg 91, 2,17 173- 62 (&ilik 4§ l) PB=T.71  /QB=T. 71 281 gl Fuie 8211 6 180~ 72 (FrRRBEEN - J297) PB=16.98  /QB=16. 54
4.07 /N g N %Ma 1 7.4 1.7 4.21 94vfyb ~vr by L 9 =Bk 4) 9Inv  15.94 -1.4
4.14 @A ﬂ}tmmm 1 7,35 L9
5.03 wa s X 1 7.76 2.1 | [ 32] (iR K— L3811 30 180~ 70 (7//wsc ~Hnﬁ%> PB=16.08  /QB=16. 08
5.03 IS T apk 1% 7.59 1.2 4.15 K 1) 2 14.92 1.6
5.04 &K B EmEpk 9 1 7.71 0.5 4.29 5 IRk 5 2 15.81 1.0
5.19 1 3 H100m X 1h4  10.72 3.6| 5.12 7 & X 1 15.35 2.3
5.19 & S 53100m X ) 252 10.59 2.6 5.12 ¥ 18 5= ? Jk 1% 15.04 0.4
5.19 f& i BAEEE x ) 1 7.83 3.0
[ 35] ﬁu% IR 82.12.20 170- 62 (TAC - HZ%) PB=16.22  /QB=15.82
[122] Ak Afd 84. 9.17 161~ 61 (FHbEM - BJ) PB=7.66  /QB=T.66 5.04 K AR TR 7 = BBk 5 15.18 0.3
4.29 KK FH [E] B BEEYE X ) 7 7.23 2.9 5.19 8 A HH ARG B = Bewk 5) 4 15.81 -0.3
4,29 J5 kIR B Rk 77 T* 7.23 -1.0
5.12 REJI S DB X ) 4 15.25 2.4 | [ 80] 328 90 7.13 170- 62 (791“7‘ 4#mﬂ> PB=16.50  /QB=16. 50
512 REJI PR e P = Bk AVt 15.05 1.3 4.07 ik JUN AR 2 (511 % =Bk 1 16.48 1.6
4.29 JRRSIRIR i AR E %ff&ryt 1 16.31 0.3
[137] /P HEE 90 4.13 171- 61 (MK 4 bif§) PB=7.95 /QB=T7. 95 5.04 K IR HTHATE 5 i 1 15.98 0.1
3.24 ta-aby o AR 3 A Bk 1 7.38 1.1 5.20 WZ DA JUNEE U3 = Bebk D1 16.50 1.9
4.07 K A - H RS B X ) 1 7.61 2.9
4.07 KX Fn TR - B K6 T EERk I 7.57 10| [ 94] BRI P 8311 8 85 70 (EEAC J:,Q PB=16.45  /QB=16. 18
4.14 AR SEHERRR B BEE 2 (7 11E]) GykuEsE 1 7.28 0.4 | 2.04 KBk AAY 2 =7RNA—-7>) HZE 1 i14.84
4,14 BOEKR %/ﬁm&ﬁ%wﬂ 2 (1M ) = bk 2 14.72 1.3 4.21 # 13) 1 15.65 1.4
4.21 FBUR TUR 5% T RBE 17 1 7.58 2.0 T,&EJE 5 15.57 1.0
4.29 JRESIRME Ak AL A E T Epk 5 7.49 1.8 B = Bewk 6 15.63 0.4
5.04 K AR BEiEsk 4 7.44 0.1
5.19 [@ 7 B ) ak 5 7.58 0.9 2 90. 4.11 179- 64 (I K 4 K 1)3:15,94 /QB=15. 94
5.26 JHUfEK SUERRE A B2 (e[l T EEBE 2 7.28 0.0 | 4.08 HM\?’%’* R HARRAL PEEBE X 15.27 3.9
5.26 HUfEK U RAR B B2 (G6la) 7 =Bk 88) 4 14.90 0.5 4. 26 ﬁ?‘%ﬂfi& é]c Il;\ e X 11 14.86 3.5
P = Brik 11 14.64 1.8
[148] fex Ak 7 89. 7. 7178-63 (IX/SS .,bﬁ) PB=7.65  /QB=T.65 26) 3 15.44 -0.9
4.22 & HIRE TR T T ERBE 82) 1 7.21 1.5
5.20 i A& HH ARG T A MBI X 7 718 2.5 i .‘t PB=16.17  /QB=15.97
B ik 15.36 1.4
[159] Sl 84, 2,15 175~ 68 (€7 m—7 - A7) PB=8.05  /QB=8.05 X ) 1 15.67 2.3
2.18 #t M T LBk 2 i7.63 17 1% 15.62 1.0
4. 14 JVTE/) v T lEpk 2 7.50 2.0 10 14.90 0.7
4.21 9iwfyb Uy ) b— ) Ewk 2) 6lnv  8.00 -0.5 81) 1Irl 10.69 1.1
[162] @b 7 86. 2.10 173- 70 (BEFRAEIER - i) PB=7.93  /QB=T.86 PB=16.59  /QB=16. 59
2.04 KBk H A =T RN (A—F) %ﬁLriv;awE 9 1 i7.71 10Inv g
4.29 JRESIRE Rk E LA E R A Ewk 6 7.27 0.4 6
3
[167) TFEf—E8 90.10.10 177- 64 (fERK 4ENL) PB=7.80  /QB=T.80
4.07 fERK UM B 2 (5 1m0) B awk 1 7.70 1.3 | [184] FiE =EE 90. 6.14 184- 70 (&REBEK ) PB=15.72  /QB=15.72
4,29 JRESIRIE Ak E LA E g aBk 2 7.55 0.5 | 5.20 & I ElAET &2 64) 1 15.10 1.4
5.06 %~ S— LT T 7Y T RBE 5 7.41 -2.2
5.19 fZ DK SUMFE I EiEkk 5 1 7.80 0.7 | [223] #4 PB=16.26  /QB=15.85
: i X 1 15.01 3.9
[172] 7 8.30 179- 75 (I X - HI5) PB=8.10  /QB=8.09 g X 1 15.79 4.6
2.04 KBk TENCE— f/) T EBE i7.59 2 15.56 1.1
18 #L I J—'% T lEpE 7 i7.54 . 26 4 15.66 0.7
4.14 JV7E/} Tk aEk 1 7.52 -1.3 5.19 fig 3) 3 15.96 0.7
4.21 94vto b g EEBk 1) 2Inv 809 0.0
4,29 JEES IR % Rk 1 .02 -0.5| [259] EAJIKKE 90. 2.27 172- 56 (A1 CT PB=16.24  /QB=16.24
5.06 %% J) BEEk 1 7.98 0.8 26 TN LB 2 (58[) 1 15.42 0.2
5 ke B BoEmEk % 1 7.97 3.0 &)\ H)\xﬂ‘ 1%0P  15.28 0.0
5 ® 5 EBk 1k 7.25 -1.3 . X 0P 15.32 3.9
2 14.82 0.1
[206] FH'—J-' AL 90. 4.13 167- 65 (H K 4 KBR) PB=7.7 /QB=7. 71 9 15,12 0.9
4.01 H A KFiHe GB1ED) PRk 13) 1 7.62 1.5 X )1 16.22 2.4
4.07 K fu HHER - H Rk Bk X 2 7.60 3.5 2) 1 16.05 1.5
4.07 X Fn R - B R T lEpk 2% 7.47 1.5 ImMﬁH?IJ jiti 2 (5560H1) 1 15.28 0.3
5.19 [# 31 B Bk apk 8 744 11
176- 69 (KB H 2 PB=16.26  /QB=15.88
[217] 3t 89. 5.21 175- 66 (ifri%?»t - B PB=7.93  /QB=7.93 .29 )i o B 30) 7 15.39 0.2
5.04 K 7 R TiHRE AEdEPE 41) 5 7.36 0.4 5.05 m/eﬂ_ =i 2 15.15 1.0
5.13 % B Bld== 35l ”;LVI!WHJE X 2 7.26 2.7 5.20 J& Rf Fﬂl&%%ﬂ 2 165.22 1.1
[247] Hikf  <F 86. 4.18 179- 65 (W7 /L - Hii) PB=7.89  /QB=T.82 [300] #F #— 89. 4.18 180~ 75 (¥ Kk MIJE#) PB=16.05  /QB=16.05




] C ﬁ $B30EA)  Ey7HEAS (2012/0X ) RRBEFRERES
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=15 | XKIRmERERE LGRS BT 8 pr10sE

4.29 IKELIIE Rk LA E m 3 15.70 0. 1
[353] | 84-118 (Hhxik 3 ) PB=16.92  /QB=16.92
[354] (LA HES 81, 9.14 198- 77 (N LA PB=16.09  /QB=15.70 3.23 A& Pt BRI 2 15. 52
4.14 FIEK rh,aju_ngmf*/ﬁ@am 1 15.36 -0.1 | 4.01 1 B 1 15.95
5.04 K 7 ME 20) 3 15.59 0.7 4.08 % I Fa g 1 15. 88
5.12 £ RJI| wz\ E 5l x 2 2.3 4.14 thy 2 (1E) Bl 1 15. 61
RE)I e dbil 2% 1.5 4.22 fif fagabRyy B 5) 4 16. 92
FRK TRCR LM 2 (B52m)) 1 0.5 5.13 i : PR 1 15. 59
5.26 AT \T\J_Méwxh(%m) SR 1 14.98
Sl KA 90.10.17 179- 63 (H K PB=15.87  /QB=15.87
4 K NE A B 2 (S 8Im]) X 2 14.63 2.7 | [361] &M W 79.12.21 178-110 GRILE L7 - &KIR) PB=16.08  /QB=16.08
g K MR e 2 (5811 2k 14.62 1.5 .05 LA SR T S HipeR Ui ob ke 3 15.50
Ko HUEA - F RS X 3 7.37 2.3 2.25 iR VEIEFR R T & eik s (G2m)  Bhafuik 1 14.97
K R - B R 3% 7.29 0.9 4.01 SUEK S A BEEES G LD D 4 15. 70
x| KD ;k#&)\ H K 1 15.52 2.0 4.15 B K B REEES (BE2E]) BRI 3 16. 08
el x 8 15.34 2.3 5.04 K 7 J)'I|Jm1"‘f A 4 15. 53
) 8% 14.96 0.2 5.20 it A HHAGE Bl 14) 1 16. 20
8) 1 15.75 -0.5
s X ) 3 7.63 4.7 | [371] Fuih %Z 91.10. 1 185-100 (HLifEiK 3#hZ%) PB=16.39  /QB=16.39
s B s /J%wllmfyt 26) 3% 7.48 1.9 3.24 R %rﬁxﬂéﬂ%‘m&ﬁ%zzﬂ) I e 3 15.27
4.07 X TR - B R Bl 6 15.43
4.22 gz&i ;ﬁj}_v }7——:/\» bk 0 14. 99
L =] - g 4.28 3 Withex (F10E) PR 9 1 16. 39
< %?Eﬂ%h& 15%0)201 ZEIEEE$E> 5.20 [ 3% Bk Brats 6 16.07
[%’E] i&%% iﬁfp):l%ll HE-RE (Fm .
S T W L =]
- | <BFABRHISEDO2012F T Z/ME>
[ 5] kA Cib#f 90 7.30 180-120 (B K . [#&5] K4 AAEA R HR-AE TR - BR) PB=F CLRLER/QB=¥E
4.15 [E 37 J: SRR %’%uaﬂ& 1 15.88 HH 57 B i 24 HANERL) R
4.22 i BRIAH 1 15.55
5.04 HOR; pan H 1 15.27
5.20 [# 3% rﬁ%s—i B 7 15.55 1.29 173- 98 (H K 2 BiE) PB=49.77  /QB=49.77
4.02 H TR - B R 2 49. 28
[ 46] ‘Hi  IEfE 90.12.14 182-117 (KfEK 4 KBK) PB=16.29  /QB=16.29 4.02 | K AR - H RS 70) 8 54.24
2.25 ﬂﬁxf Kk 2 G PR 1 15. 61 4.08 JERALITE KR~ — Lt - 16 54.05
4.06 RJEH " K4 Bhah 1 15.27 429 0 K kad (553[m0) 5 A 1 48. 38
4.14 KIER PN ESCHIEN B 1 15. 14 5.19 [H 37 P ):I‘Mi“& 14) 5 49.77
5.11 & J& BG4 PR 12) 1 16.29
5.26 KikK RIBRFEH £ (F2m) TR B 2 14.36 [ 25] i 95 85 9 14 180- 90 (& mbéAc w—) PB=51.20  /QB=49.71
) 5.06 & JF U T g 32) 1 6. 56
[ 73] X7+ (lif) PB=17.94  /QB=17.65
4.22 BN 7 16. 16 [ 37] Rk #HE 91 2. 19 185-115 (H K 4 LifE) PB=53.31  /QB=53.51
5.03 i 1 15.82 . x %(ﬁ}f Rt 5 PR 1 52.93
5.20 Fran 10) 1 16. 35 ffh, _EIK”. PRl e 4) 4 53.51
: 9 Mg 2 51.45
[126] AVK#RST 89. 6.25 185-113 (HE K MIfE[) PB=16.76  /QB=16.76
2.05 SR %miﬂzki&f%mﬁﬁ i 5 15.11 * B PB=50.54
4.01 HLEK FLE R (55 1[E) THan 2 15.72 v oAl 5 d 1
4.15 K B RFEEES (F520e) EPES 6) 1 16. 76 Eldi=5E il 55 M B 17 2
4.30 LK U R BE 2 G 3 PR 1 16. 47
5.04 K 7 AR i 2 16.64 [ 76] Kilj #his 88. 6. 1 185-118 (ASSATC » =) PB=50.57
5.19 H 7 B Trai 1 15.07 4.14 ff B4 éLrEH wE B 50) 1 14. 22
4.15 {J+ 5h = Eoll e 10) 1 50. 57
[174] #hAk 0 86 4.5 181-110 (KIEKRTC -« KBK) PB=16.75 /QB=16.75 4.29 JEESIRIR 5 R 8 9. 05
4.22 T ==L Bhah 7 5 16.71 5.12 BRI o Fa Lz 1 14.02
5.20 J& ¥ r‘*]m Frai 1 16. 42 5.13 BRI PRl 5id 1 47. 15
6.02 DUHTH P FLgR S (B33 U PR 1 46. 35
[176] oA f&F 90. 6.12 182-116 (H K 4 F4E) PB=16.13  /QB=16.13
4.07 K Fn R H R B 3 15.71 [ 88] /B EL5L 89. 7. 1 185-100 (HijkKk M=) PB=51.78 /QB=51.78
4.22 7 Py v»ﬁ»:/w THai 11 14.47 2.05 SUEK LR T X by Rt 8 13.43
5.20 [E 37 BIsE B 16) 5 16. 13 2.05 HUEK FURKRBE T HiHR PEARE 24 2 48.01
4.01 Sk SRR 2 (111 7R 8) 1 51.31
[216] 5t WI% 88, 9.14 170~ 98 (KIKE K/ - K4 PB=16.40  /QB=16.37 4.29 JRBINEE kR ERHE A E B el e 6 50. 23
2.05 HLEK FURRIE T E B BRIAL 2 15.76 4.30 HUEK LB KRBT %(%‘SM ):EML& 57) 3 13.98
4.01 HUEK FLIE KL %(’%llﬁl) PR 2 15.72 4.30 HEK LT (F53[R) Lolil i3 1 50. 55
4.15 SR ERON e C i) i 15) 2 16.19 5.20 [ 7 B 5 g 1 51.16
4.22 7 T U L— 9 — = Rhahie 9 15. 46
4.30 A FLIEKE 2 (5530 B 2 15. 89 [ 93] %Ak in 85-105 (T E AMEJM - [LI0) PB=50.39  /QB=50. 39
5.04 K Kt LERIESS 3 16.04 4.08 1 0 1 5 e 1 45.75
4.15 F B i) 95 PR 1 44. 86
[230] EREL 4 89. 9.20 178-110 (FEREfAK  MIjfidll) PB=17.28  /QB=17.28 1.29 [REBIAE 6k 3 P 12 43.89
3,17 EREEK  EREREFREES 1) Bl sie 74) 1 42.37 5.04 (1 A 1 Pl zie 1 45. 46
5.19 fiZ ok UL BraA# 23) 1 15.19 5.20 HX L hIE 5 25) 1 47.26
[243]) bk K 93 1.15 175-115 (E+K 275%) PB=16.46  /QB=16. 46 [139] /h#k GRS 82. 4.23 182- 98 (BB /LE - fiF) PB=57.18  /QB=56.05
3.27 ELK [E] K r 2 (F8[E]) J:EULQ 1 15. 84 2.05 HUEK »u&)\&f%%ﬁ&% PelRL 24 1 49. 58
3.27 [H4K [E] bR 2 (558[R]) ) Pk 4 47.13 4.07 EHK [_1+7~m{ 2 (5 1) DAl 2 1 51.73
4.07 [HAK [ =Kt 2 (5 11m) 5 Ay 3 46.75 414 ANVRLVY A= RT J7§TW 9 A 6) 8 52.96
4.21 FHAALE PR 2RI Thai 3 15.31 4.29 JE ISR n‘éJaFHVf d,DEI 3 PRl e 1 45.99
4.21 FRRLE VUK 2L ARk 2 5 45.39 5.12 #r 8 El-Es= o] 9 M 1 52.16
4.22 #hF E Y L—J— =31 PHAAF 8 15. 86 6.02 H{RAfES HIKKHEHS (BET740R) 93 3 51. 06
4.28 [EH14K uj_kmx (&2[m) 5 Ay 2 46.30
4.29 H K u)\m 2 (5530) Pl e 3 48.13 [147] BOH Mt 87. 9.21 174-112 (FE@FRK  M2ZKHK) PB=51.27  /QB=50.42
5.19 [ 3L [ 5% A 12) 3 50.15 3.24 WA mnﬁ%)\m#%(%mﬂ]) el < 1 42.90
5.20 [E r Fr‘1$+i LRI 3 8) 2 16. 46 4.01 HEKR B R EEE 2 (1) 5 s 3 46.52
4.21 # i (?-‘J_w%fmdx > (H520m) o fa Lz 96) 2 13.27
[252] 0 FK  91.12.28 183-114 (Ui 375 #%) PB=16.01  /QB=16.01 4.21 iy i & KB (k) PRl 5d 22) 1 47.49
3.24 HUER SRR B A 2 (BE22lm)) SR 4 15.23 5.20 [E f B 5 R 2 44.95
3. 24 R HOHERRE A BB E 2 (522 AR 1 45.57 )
402 H K SUHER - H RS DR 4 46.61 [212] Jmzx o gE 92, 2. 7 185- 96 (I K 3 7).
4.07 K K - KRR AL 5 15. 49 3.24 JH K NER R T2 (F38[E1) M
4.21 FHALIE R 9 Mk 4 46.84 3.24 A K NER e 1 2 (558[m1) B
4.28 HilEK R 2 (5 10A]) T 2 16. 01 414 K NFR 522 (5 1[a]) 5 A
4.28 HEK PR fimxa@uul) B 1 46.44 415 H X B ABEEZ (20 T s
5.19 [E 7 B s EElRE 2 21) 7 47.74 4.21 FABE VR ZE AL Pl zie
5.20 [€ 7 F#J$+L LT RIESS 1) 3 16. 30 4.29 JA IR “"&Baﬁ!#/m/:l_l\»;'% g
513 H K B By
[263] Jmiii  Ha 82.12.18 184~ m (ﬁ—L\ﬁ K'S - f£f5) PB=18.56  /QB=18.15 5.19 [H 7 r;@]):”‘& <
4.22 ¥ F SEY L——= Brais 2) 2 17.40
[218] R FEA 89.10.30 177- 93 (HHBIEREA 5 BFE) PB=50.90  /QB=50.90
[288] JEJIl F& 90.10. 5 185-107 (HiifER 4U50) PB=16.25 /QB=16.25 4.29 # 1B % T 5 A 1 49. 40
3.24 HUER R B A e GR22iml) R 2 15.35 5.19 # I Mg 1 1 50. 23
4.07 KX fn HHER - A KR BRIAH 4 15.55
4,21 FHAJE VU R A PR 4 15.23 [222] #2 MW 89.12.22 184- 98 ([HEK MI1LifE) PB=55.89  /QB=55.89
4.28 HOER R 2 (1R Bhah 3 15.52 3.27 E+HX [ R 2 (8 [l 5 PR 1 53.19
5.20 H L BIHAE Frai 13) 4 16.25 4.07 [EH4K RSN ECANED] PRl 2 50. 82
4.15 H K BB ( [EE) Pl zie 3 49. 07
[314] ®H HKX 90. 6.14 183-120 (H K 4 #%) PB=17.35  /QB=17.35 4.29 JRESIRIE ik T R E R % Mg 2) 2 54.59
4.07 K Fi AR F R B 1 17.23
492w F S ) L—J — =1 T 6 16. 60 [243] by K 93 1.15 175-115 (E+K 2 7kh) PB=50.15  /QB=50. 15
5.20 [E 37 PR B 3) 1 17.35 3.27 @K |’!+)\m&%(%‘xw bk 1 15. 84
3.27 [H+K l_l+fmf (%sﬂ Loll i3 4 47.13
[325] #H)Il #F 81. 5. 1181-110 (x/&rm ﬂ i) PB=18.43  /QB=18.35 4.07 EEK [EESN oA 3 d 3 46. 75
2.05 HLEK FURRIE T E B Fuf 1 16. 60 4,21 FARLER PR 3 15. 31
4.01 HUEK FUEABEL S G 1) m‘m& 1 17.22 4.21 FHR b 5 45. 39
4.22 ¥ 7 Ffifi ) L— o —= L i o1 17.96 4.22 7 o fa L 8 15. 86
5.04 /K F K i Frans 1 17.66 4.28 [EA4K PRl 5 2 46. 30
4.29 H K PelRE 24 3 48.13
[348] (LFHARES 85 8. 7 179-115 (& ki - F3E) PB=18.64  /QB=18.32 5.19 [@ 7 5 s 12) 3 50. 15
4.22 #h 7 Y L—h—=/3L i 3) 3 17.35 5.20 [ A7 rﬁ%+i LT RRIES 8) 2 16. 46
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[262] il

FEME 77, 3. 9 180- 95 (¥ U v

4.14 AVRNVY F—A KT f@%’—%
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T B IR 72100mH 5) IrB  13.47 12| 5.26 HI5UK 72100m 1 1
[ESvA Z100mH X 1h4 13.66 2.4 5.26 thEUk g £100m 1h1 .3
2 [H 1 #100mH 252 13.59 1.5 5.26 HIRK 4=,aﬁ)\+ﬂé:m&§(%‘2|nl) #100mH Irl .9
[ES A #100mH 3 13.68 -0.5
BT 91 9.30 167~ 56 (R 37FKk[) PB=13.55 /QB=13.55
KA fE - >3 (T;%ﬁﬁ)\ﬁik HiE) PB=13.87  /QB=13.87 LR (52001 £100m 172) 3rBl  12.35
22 BOk z‘ Z2100mH 6r3  14.37 1.8 mﬁ)\nmr(%’zw) 22100mi1 1rBl  14.02
JE K 22100mH 13 14.88 L1 22100mi 4hl  13.63
kR Z100md X ) 2 13.99 2.6 72100mH 7) 2rB 13.55
A 1z100nH 2 14.22 1.2 4£100mH 3 13.57
WA #100mH 1h2  14.56 0.6 #100mH 1h5  13.65
e A #100mH Irl 14.59 0.8 Z100m - X ) 2sl 13.53
KO £c100mH 33) 7 14.07 0.3 [ £c100mH 2 13.58
e B #100mH 3 14.14 -1.8
[161] m’fﬁ % 91 5.26 168- 64 (I K d%ﬁ#) PB=13. 62 /QB 13.57
il 3EIR) PB=13.49  /QB=13.71 3.22 HO K BN AR A —T 410 1r2 14.26 1.7
wn B dﬁ“(%b\uw 2£100mH 1r2 14.51 0.9 NP AlOOmII X 2 13.94 2.4
B Lgkécﬁ [E)  %100nH 2rl .3 [ 2 100mH 10) 1h2  13.62 1.9
22100mH 7h3 .1 i| B AU Ze100ml X ) 3sl 13.57 3.7
#100mH 24) 6rB .2 5.13 [H 7 BB #:100mH 4 13.72 0.5
Z100mH X ) 1hl .6
#100mH 652 5 [169] A4 sEEE 87, 7.14 167- 55 (EJIfAEHE « ZK5%) PB=13.77  /QB=13.77
4.01 HEK LI R /x‘(%m tloo 2rl .6
« A1) PB=13.70  /QB=13.70 4.01 SPER S I B2 (7 1[A]) ﬁtmaﬂét 3 .0
£c100mH Ir 14.21 -1.9 4 FLEK ma&)\»ﬂx’i (%Zlul) LeiEERk 2 .3
4100mH 5h1 13.96 0.9| 4 i H £ 100mH HEP .8
100mH 23) 2 13.83 -0.8 4 il SR A iE B HEP .2
K 2 (#5203) #2100mH 2rl  13.87 0.9 | 4. i ,Mi%ﬂ# G P(mﬁ*i) L 26P
4.29 JRIINER Rt £c100mH 5h2 4
Ak 3 88 6.11 167— 52 (=F 44> 2JR[k) PB=13.04  /QB=13.04 4.29 F?}T—‘,JZUJL o S #100mH TrB .2
NS NN S VN 55 x (1) BB 61) 1 5.67 1.5 | 5.04 /K K TR 42100mH 7 .3
NS [E R L ek ey 22100m 2.3] 5 Tr KRR LR 1
NN R 22100mH 0.5 5 7 LAEERE X ) .9
29 K IRk 2Z100mH 1.4 5 a A .9
UNCYIN 22100mH 1) L7| 6 iy 22100mH 15) .3
4 K £2100mi 0.3 ] 6 L33 H AR FHER AL L EBE 11) .0
5 e f) #100mH 0.3 6 L2 H AR FHER K i 3) @
A&l #100m 33) 0.0
SEHBEE 90, 114 166- 54 <4t/111m/\47 ALifE) PB=13. o:) ’08:13. 52
Il .2 174~ 54 (PEtk 3 ) PB=13.55 4.29 JRESIRIE kA ££100mH 8) 13.57 0.6
3.23 & [Hp s 42100mil 18) .8 4.29 JRESIENE Rk EREE 3 i::l(t()mn br/\ 13.58 1.7
3.24 / BT ES BB 8) 0.4| 504K 7 KR 2100mH 4 13.60 0.3
4.08 %1 F%5 #100mH N
4.08 1 HF LRk 0.5 U ATHE 92, 2.28 163~ 49 (FHK 3V PB=13.80  /QB=13.80
4.21 W (G PRAR) 4100ml .8 BRCEA R A —T #400m 109) 1r4  57.51
4.22 # *HE (G PiRAR) BB .8 5.12 [E 37 2100m X ) 3hl 13.94 3.6
4.22 i “HE (G P ifiAR) A
4.29 JLk & £2100mH .1 7555 330 PB=13.83 /QB=13.83
4.29 KR #100mH .2 3.22 B0k #100mH H 13.83 1.8
5.11 Hi Zs R Bk .6 4. i #100mH 13.91 1.2
5. i Z3 #:200m .0 4. i #:100mH 1h1 14.16 0.2
5. Z3 £c100mH .7 4.2 Ai Le400mH 1 60. 52
5. A #100mH 4 4. i #400mH 2h2  60.97
5. Z3 #100mH .0 5.03 % Jf #:400mH 4r2  59.36
5. 4 T gk 4| 512 [ S 4100md X ) 3h3  13.69 2.1
5 Z i 5.12 57 4£100mH 19) 4s2  13.78 1.5
LB (Fi20E) 4100m | 513 [ Sz £ 100mH 6 : .5
b e 24:100m .3 5.19 [H 7 2:400mH 2hl  59.52
HLA #200m L4 | 519 [H A 22400mH 251 59.75
1z100nH 3| 520 @ 57 1£400mH 12) 3 59. 30
et .5 6.02 K Jf Lz LEN AN #2400m 34) Irl 56. 11
et
[214] Bf ﬁé 87. 6.18 164~ 48 (Lifdi A 7 - L) PB=13.21 /QB=13.21
173K PB=13.71  /QB=13.71 4.15 AL v R = FHE 22100mH 13.61 0.7
22100mH 2rBl 14.56 0.5 | 4.15 A . 22100mi zm 13.94 0.9
#:200m 26) 3 24.64 1.0 4.29 KRS ISR #100mH 2h3  13.47 1.1
£2100mH 1 14.47 0.1 4.29 K e IRk £2100mH 4)  4rA 13.45 1.7
Z2100mH 6 13.76 0.3 | 5.04 K 5 2 100mH 2 13.50 0.3
#100mH 2h2  13.77 1.9 5.06 %% /) ST S 5T I #100mH 7 13.81 0.3
e #100mH 14) 3s2  13.68 1.5
B ££100mH 7 13.88 -0.5 | [215] s ®HE 92 18 1 2 4LifF) PB=13.81  /QB=13.81
3.22 #Ok #100mH 4r3 14.18 1.8
sy 84.11.18 161 54 (tifgii A 7 - L) PB=13.37  /QB=13.70 4.15 [€ 51 #100mH 20P  14.16 0.1
; 72100mH 5h3  13.72 L1| 4.29 H K 72100mH 1 13.99 0.9
22100mH 5rB 13.73 1.2| 5.12 57 4£100mH 21) 3h2  13.82 L9
42100mH 15) 5 13.70 0.3 | 5.12 [ % “100ml X 4s1  13.98 3.7
22100mH 1 13.92 0.9 | 5.13 [6 Z £2100m 8 14.11 0.5
Z100m X ) 1 11.94 2.3
[234] f@ip 7 2J5F) PB=13.74  /QB=13.74
Ryb 81 7 mx 62 (SMS AC - f@li]) PB=13.56 /QB=13.56 2.04 )\Ii)x'ihﬁa = ZE i 3) 1 i8.68
SER FUN 22100mH X 1 14.05 6.6 | 4.15 JRERIK E ik Z £2100mH 2rl  13.99 0.5
R U #100mH X 1B 14.10 2.3 4.15 m RN A § 4z400mH 86) 1rl  62.65
] 22100mH 1 13087 0.0 | 4,29 IEbEIR ££100mH 6h2  14.00 1.4
@ #2100mH 1h2 13.80 0.0 5.07 Kk IKF—,LMIF—W_D % 72100m 57) 1 12.11 1.9
ik 00mH 9) 4h3  13.59 1.1 5.07 J5 kb PNCT VNS TR T #:100m 1s1 12.24 1.9
ik #100mH 3rB 13.59 1.2 5.08 |5 kb JE B WK By D 22100mH 1 14.04 L2
@ 2Z100mH 1 13.70 0.4 5.08 K Ky T s UK s 22100mi 1hl 14.41 0.4
@ #100mH 1h1 13.89 -1.5 5.26 JK IS #:100m 1 12.22 1.2
Ful #100mH 1 13.69 0.6 5.26 JK kIR 4100m 1s2 12.25 1.9
5.27 KIS IRIR £c100mH 13) 1 13.66 1.8
[129] &4 5% 89.10.16 164- 50 CEREEKAC - #FE) /QB=13. 53 5.27 JE IR Z100mH 1hl 14.06 -0. 1
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5.27 IREG IR TR R #100mH 1s2 13.96 0.4 kA RS 42400m 2 57.95
& EQ?TWﬁ&E’F £400m 1r2  57.11
[284] u.umwnﬁﬂ 80. 6.15 166- 55 (HHi3e < ) PB=13.63  /QB=13.72 E ¥ R #400mH 1 61.96
4,08 Fi fil B LA R X 2 (BE 1) 22100mH Irl 1434 0.7 % 22400mH 8r2  62.16
i i‘%u,ﬁum@%% ~ #100mH 2rl 14.34 -1.9 3 42400m 2 57.57
ik R £2100mH 37) Th2  14.13 1.4 & % Le400mH 1 61.37
I 22100mH 3 14.27 -0.8 [ANVN 4£400m 47) 1 56. 54
[ 2:400mH 1) 1 58.99
um: i 92 5.30 164~ 52 (G255 1 504F) PB=13.72  /QB=13.72 oA #400mH 1h3  61.92
7 £2100mH 10P1  14.16 1.4 AR ££400mH 1s2  62.81
2 IZQU,IZ(UC itl()(imll 6hl  14.04 0.9
5 & (3L #100mH 27) 2 13.99 0.9 B H 88, 7.15 170- 50 (J - VI C - HJ%) PB=55.99  /QB=56.65
EE BT #100mH 1h2  14.41 -2.6 AR dk- BRI/ 42400m 25) 2 55. 85
HRKHERE k- BRI Le400mH 2 57.78
3 48 o ] [E] B #2400mH 2) 3r3  56.57
=] - g JS W AR F2400mH 1 56. 92
<ZF400m H tH15%E 0201245 T EZ/MHE>
_ 54 GBS 3 KPK) PB
[%F5] K4 EEAR HR-RE (T8
AHB % Hitias PN £c60nH
_ k2 1260mH
= #260mH )
[ 1] #ADYE 86.12.15 163~ 51 CRARRIT - fakh) PB=55. 94 /QB=56. 62 ke 22400mH
4. 14 JIK-Yavy e #2400mH 59. 26 &k (F520m) 72400mH
4. 2:400mH 4 WK dﬁ“(ﬁillub Le400mH
5. 2400mH 5r3 \u{ RIESY)  Z400nH
5. £2400mH 4) 2 RS #100mH
5.9 5 2£400m 1 3¢ £400mH
5. : 22400m 2hl  55.97 4£100mH
5. Sit 2 (519/m) #2200m 1) 1 24.11 0.5 Z2400mH
#:400mH
[ ¢ 57- 46 (=% HEHH - ) PB=59.85  /QB=59.62 #100mH
4. WL 400mH 1rl £400miH
4. wER #2400m 2rl 22100mH 54)
4.2 WEFFRB L£400mi 1 2100mH
5.0 2400mH 13) 1rl #2100mH
5. #400mH 1 £100mH
5.13 #400m 121) 1 #400mH 19)
22400m 1h4  61.36
[ 10] 1 158- 48 (f@ kK 1) PB=59.31  /QB=59.31 #400mH 1s3  60.82
5.19 42400l 1hl  63.64
5. £400mH 88) 2 62. 66 PEEF AL 92, 3.26 162- 51 (YK 3T) PB=59.15  /QB=59. 15
LDk %K%i%‘ =7 #100mH 2r3  13.83 L.
[39] kM THE 87.10.19 168- 55 (F—A3 X/ - [U%L) PB=58.39  /QB=58.60 WA 4£100mH 1 13.91 1
4.29 /)N WAL N ) — =31 2400mH Irl  62.94 WA £100mH 1h1 14.16 -0
5.03 % JF L] £2400mH 6r2  61.74 WA 2:400mH 1 60. 52
519 f8 4 #H AR Z2400mH 35) 4 61.36 WA 42400mH 2h2  60.97
6.03 /i AL T #200m X ) 1h3  25.01 4.2 % £400miH 12 59.36
2 [E/ 4100ml X ) 3h3  13.69 2.
[ 52] E+M # 93. 819 164- 53 (Srfrk 1 KW PB=59.42  /QB=50. 42 [H 2 22100mi 19) 4s2  13.78 1
3. 18 KikK RIEKBEHR (F8[RD) Z Bk .38 -0.4 [€ 57 #:100mH 6 13.85 0.
13 P )5 . 2 = BBk 55) 4 1,53 1.4 A Le400mH 2h1 59. 52
5.12 & J& £2400mH 1h3 62.23 9 [H i1 3 #400mH 2s1 59. 75
512 & J& [lEkEs LeA00mH 3s2  62.00 [ES VA AL 2:400mH 12) 3 59. 30
513 & & B PG/ #400mH 43) 7 61.58 PN U [E] A7 R 42400m 34) Irl  56.11
5.13 & )& BIPE 4 =Bk 21 1113 0.0
A o0 EH94 2 162- 59 (32 K 18iE) PB=59. 24
[ 56] KWARE 93, 1.17 170- 55 (B 24%4) PB=60.00  /QB=60.00 9 [H 3 B £2400mH 76)
4.08 7 % '%&+ EHF 400ml 12 63.38 [EEA #2400mH
4.14 Hi B SR E RIS 2 22400mH 2rl  62.81
5.03 4% f?’ 2400mH 5rl 62. 41 FAE #8%L 90, 6.17 177- 55 (Sl 4 FF) PB=58.62  /QB=58. 62
5.13 K fi £2400mH 33) 2 61.31 FLEK FLIE B (1R #:200m 100) 1rl  25.13 0.
5.26 HRUK R 2 (552000 #400mi 1 62.21 RPN SR RBHELLE: (F5 111 42600m 3) 2 1. 34. 96
RN S RpEBez: (2000 £400m Irl 56. 37
[89] &R &% 91.10.23 174- 62 (F K 3HEA) PB=58. 62 5 HEK SR BEDE (F20E) 22400mH Irl  58.67
3.22 BOE BIH R ERFA—T 400 2 FLEK LA (F53[R1) #:400m 8) 1 54. 62
3.22 O, BT A —T £400mH %O i £400miH 8) 2r2  58.62
4.08 HIERHEGE PR HARKGHE #400m ST #2400m 2h3  57.10
4.08 H{EKEGE Hrk- uﬁ:)\xlff‘ £2400mH ST PR 2:400m 4s1 5627
5.03 4% Jf e[ 4400m T B #:400m 4 54.71
5.03 & Jf #400mH
5.12 [H 7 2400m =K W 91.12.25 161 51 CRABR 3 KWK) PB=56.92  /QB=56.92
5.12 [H 31 £400m R %ﬂs&um ,ﬁ #100m Irl 12.36 1.
5.13 [@ 57 2400m 10) HRBR HURBRIT 1 #200m X irl 25.10 3.
5.19 [€ #400mH 8) 1/ i %= 4tfuudﬁ<‘*(ﬁizlul> Le400mH 2rl 61.42
5.19 [H £2400mH S #400mH 1 61.55
5.20 [ Zz400m! 22400mH 1h1  61.48
Z3 72100mH 95) 2 14.55 1.
[ 96] AfRpris 82. 4.27 160- 52 (MUK /b - #1K) PB=55.34  /QB=55.34 REH )\Ivi*‘i £100mH 1h2 14.72 0.
4.07 fREyR mm,ch»,¢&Na%16!‘|) #300m 2) 1rl 40, RIEFR R GRLEE RIERY)  Z2400nH Irl  61.23
4. 14 9Ny b JIK-Vary U Hs £c400mH 2 [Py Ef 4:200m 10P1  24.84 1.
4.21 gty MASNETE e 22400mH 3Inv TG U ﬁ%ﬂ#ﬂ—_ #400mH 10P1  62.20
5.03 4% Jf 3 #400mH 1) 2r3 9 RISk 4£100m 32) 6hl 11.96 0.
5.12 ¥ 18 #:200m X )1 3 4% il [ #200m 42 24.88 0.
5.13 ¥ & £100m X ) 2 & \.%M Jis] 2:400mH 8r3  60.18
5.26 fE K > (55190=)) #400m 14)  3rl E & 7 = #:100m 1h2 1217 1
5.26 fEEK F519[7]) #400mH 1 E Le100mH X 4h4 14.60 2.
£ & #100m 2 11.96 0
[ 97] fiEs HE 93. 9. 1 167- 53 (@WK 1 EiF) PB=59.80  /QB=59.80 k& £100m Is2 12,07 1
414 WZ O EIERLTE HAGRES (MO 400nH 3rl 63.73 B & 22400mH 1h4  59.91
5.03 485 3 i [ #2400nH 81) 6rl  62.58 2k £2400m 1s2 60,18
3R & #Z400mH 5) 1 57.11
[110] i % 91. 2.18 156- 50 (FFTk 455m) PB=59.27  /QB=59.27 T %M&m/jfj THE 4200m 35) 1rl  24.73 0.
3.4 &k LI E R S 22400mH 1 61.67
4.08 & % e HF 4£400mH 1rl 61.86 S ?‘f 90.12. 19 168- 55 (ERZEK 48 E) PB=58.50  /QB=58.51
5.13 Hii L£A00mi 18) 1 60. 24 Bk BIHCE R A —T #400mH 2r2  62.88
2 BrERGEHRS #Z100mH X ) 1 13.87 2.
[118] WH %A 86 6:20 168 52 (J a—Yn¥ - &) PB=57.51 2 A YR T £2400mH 1h2  60.13
4.07 4R u + 2 e eal) #400m 18) 1rl 3 4% I Tl FEI B #2400mH 15) 7r3  59.83
214 BEO% BN H A GRS (BZ04)  Zi00mh 1r2
5.03 4% % #2400mH 7 6r3 L . 1.9 165- 50 (FpkEKR 4 M%) PB=59.46  /QB=59. 46
5.20 Wi 400mH 1 5 £ J2 AL £100mH X 4 14.44 2.
2 WA THE #2400mH 2 60. 92
[124] M B& 91 1.13 164- 49 (AKX 4 5U4F) PB=57.71 WA JH% 2:400mH 2h1 6171
3.31 i FERE tﬂ:u fkx (5200 400mil 1rl %Ok #400mH 3r1 60.49
4.08 Fkex (B 10D #400mH Irl ST Z100mH X ) 4h3 14.17 2.
4.13 72400m 16) 1 2 [{ £ 100mH 48) Ts2  14.26 1.
4.13 1£400m 1hl [H Sz 22400mi 1h3  60.21
4.13 #2100mH 4 (SIS TA R #400mH 252 60.69
4.13 #100mH 161)  2h2 A B A £c400mH 14) 4 59. 82
4.14 22400l 1
4.14 12400mi1 1hl k M 88 3.12 170- 56 (Y =—4'> - £i)ll) PB=58.08  /QB=59. 56
4.22 2 (55200) 4400mi 1rl 4 RIS BREEAEH S (110) #400mH 1 61.64
5.03 #400mH 1r2 5 76 H BT Le400mH 26) 1 60. 92
5.10 12400m 1hd [T Z2400mH 1h3  61.28
5.10 2400m 1s2 5.06 7 i 2:400m 101) 3 57.44
5.11 #400m 3 5.13 ¥ 18 #400mH 1 61.28
5.12 72400l 1h1
5.12 & 475 2k 42400mH Isl [271] #& @i 93. 9.14 156- 47 (ffil K 1:7%) PB=59.16  /QB=59.16
5.13 § Rt Z2400mH 6) 2 414 WZOF ML H AL (2 OH)  Lea00ni 2rl  63.58
4.28 7 P BT Le400mH Irl 62,68
[165] #ER % 94. 8.16 164- 51 (R¥ 3 &%) PB=58.80  /QB=58.80 5.03 % Jf I B #2400mH 2 61.86
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5.13 f 4 PeRs Rk TFHE 400mH 2 61.17 5.03 i ’Fn‘fkm/‘\'f 7Y 45000m 3 16. 29. 81
5.19 MZOK ) : 12400m1 28) 2 61.06 5.13 {m ,»\» T~TI Ln=737)7 3 1.13.21.
5.19 2ok Sl Z2400mH 1l 62.06 518 B i 410000m 8 33.31.65
5.19 & 1% Wﬁ%%ﬂ £25000m 8r2  16.18.67
[275] #&J: Ak 91 8.23 161- 48 (iR 3 &%) PB=58.91 /QB=58.91
3.18 75U Wit (30 42400mH 2rl 62.90 [269] LA T 82 19 170- 50 (HBG L ) PB=10. 17. 64/QB=10. 22. 80
4.08 PYRLfiR mr (aal[ul) 400mH 2rl 60. 58 1.29 )\ B M}x/ ~ 44) 1 1.12. 46.
413 pgfE A4 #100m X ) 30P2 12.35 2.4 2.19 # m i 26) 3
4.13 70 #400m 26) 10P1  55.88 3.18 (U LA n=797)7 20
4,14 P9 R 42400mH 2 4 28 I‘L%ﬂ'?Uc il R R [ £3000mSC 8) 6
4.14 PR Z2400mH 2h1 12 85 B ke 4:10000m 52) 1
5.10 & J& #400m 2h6
5.10 & J& #2400m 4s3 [282] mm 45 92 3.11 161- 46 (fRILK 3 FE) PB= 10 23 12/QB= 10 23.12
5.11 & J& 3 £400m 5 iT EORVLTA—AN=T 2T HN-TRT) 69) . 13.45.
512 B ® r;:qu/} Z2400mH 2h2
5.12 & J& [P A4 #400mH 2s1 [292] Sl i 90.10.31 164 48 (rh,ut 4 3%1) PB=10. 39. 63/QB=10. 39. 63
513 & J& B A £400mH 10) 3 3.24 &5 b hEER AL E R R £3000mSC 10) 1 10. 40. 78
[279] %ﬁf@*zm?? 4%;(1}? 55 (E*GJIME'% * HUR) PB:57.)06 /QB=57. 06
08 H H R KR 800m 76) 5 2.14.53
4.21 ﬁj HAUE T ;mOm 1 56. 95 <ﬁ%iﬁl‘llﬂtﬂj 15%0)201 25EI¥EJZ%E>
4.21 i F 400m lhi  57.15
.22 A £400mH 3 61.18 [&5] K4 AAEAH HR-AE TR
4.22 iR i HOAUE TAE 2400mH 1hl  61.44 AH 5t Biias
4.28 H{FKEEE uthi)\ giti s (BT £400m Irl  56.51
5.03 4% ] [ 42400m 33) 6r2  56.09
5.03 & JF i ] [ 22400mH 21) 9r3  60.34 [ 34] A4 W 87. 9.23 163~ 50 (At ) PB=1.74  /QB=1.73
4.21 @ A BT TFHE 1 1.71
76. 7.16 164- 51 CRFRERTT - f@F5) PB=55.89  /QB=59.54 5.20 i & SH A 2 1.70
JK-Var Yy oEits #400mH 7 62.12
400mH 2rl  60.26 [ 36] AFAFET 90. 811 171- 55 (f@khK PB=1.71  /QB= 1 71
2400mH 16) 3 60. 05 5.19 il & e 3 19) 1 .70
£400m 65) 6 56. 88 5.19 il & LA x )1 11 47 3.3
#400m 3h2  57.32 5.19 1l & HEEE 89) 1k 11.29 2.0
% 2 (F190) #400m 1r2  56.93
[ 7] &t e 92, 2.25 173- 48 (KR PB=1.74  /QB=1.73
[300] kM 3 90. 8.11 166- 52 (1 Kk 4 KPR) PB=56.80  /QB=56.80 4.01 HUEK L RBELLE (F511R]) 1 1.68
3.22 BOR PR RT A —T #2100mH 3r3 14.07 1.8 4.15 BEK BRI (F52[R) 1 1.70
4.08 H{EKHER k- HRARHEE 22400m 1 4.30 HHEK mm\m%Xr(%xln]) le2  11.57 0.4
4.08 H{kKHEE o KR #400mH 1 5.13 [E 57 B 48) 12 11.61 0.1
5.03 % JF i %400m 13) 1Irl 5.20 [H 7 B4 9 2 1.73
5.03 £ Jf #400mH 3) 4r3
5.12 [€ 3% 42400m 3h2 ERBzEy 9 PB=1.81  /QB=1.81
512 [ 37 1£400m 3h2 1 1.66
5.12 [|@ 7 42100mH 2h5 5% 3 1.68
5.12 [H 5z #2100mH 20) 5s2 SRR 1 1.70
5.13 [H 3% #400m 7 HgM 4 1 1.75
5.19 [ 37 Z2400m1 1hd 1 1.72
5.19 [@ 1 Z2400mH 1sl
5.20 [ 3f 22400mH 1 5.23 164- 52 (FEIK PB=1.76  /QB=1.76
EREES 19 1 1.70
[301] JER FHER 91 56 (F K 3 KFR) PB=59.14  /QB= =5 3 1.65
512 & E 3574 % [ 22400mH 116) 3h2 5 4 2 1.69
5.12 & )& B PE 24 #400mH 652  63.87 P 29) 1 11.83 1.9
K I (5 21m1) 2 1.70
[ 18] St B 82 z 26 162- 46 (7 4> -« JKE;) PB= 9.53.87/QB=10.05.43 TR M e (F520E]) 2 11.26 0.1
4,19 9iwyh <UL by s Y L— tzaoooms( 2) 8Inv  10.05.43
4.28 JRESIRIE %%%Baﬁ?/ﬁl&m.\_u{% #3000mSC 2 10.09. 34 i) PB=1.74  /QB=1.74
: 1.71
) le2  1.68
=] - gk 6) 1 1.74
<%ZF3000m S CHiIHHED2012F F ERHE>
579 93.12.17 164- 52 (B K 1#iE) PB=1.74 /QB=1. 74
(& 5] K4 EEA R HRE-AE (T8 - BGk) PB= CACHk/QB=% 1K iidk HU R (H3IA) Lok ik 63) 1 1.65
HH 5 Bk FEH 126 HARNERD) Ak
—————————————————————————————————————————— F 91.10.17 167- 52 (50K 3FAE) PB=1.73  /QB=1.73
4&4 &= L 2 1.65
[24] & s 85 7.12 1@0 44 (KL - JLifF) PB= 10 . 88/QB Lo. 11 88 9 1 1.73
2.19 # it~ 7 >~ 110km 92) 1 1.70
318 (L 0 ¢HA%¥H,\7; ~F vy kn7e3)y 110) w 1. |5 56. ¥ ot 4 1.66
5.19 f& & HH ARSI #3000mSC 71 10. 35. 09 rf“)?l?‘J_WEmJ 2 (5520H) Eva 1 1.70
[ 43] #%iB#EZT 91, 1.27 158- 44 (Il K 4 JEE) PB=10.08. 41/QB=10. 08. 41 96. 9. 9 4 (RORPRERE @ 1 KPR) PB=1.77  /QB=1.77
3.2 JiE K JIEK 2 (581 #3000mSC 1 10. 37. 54 { > 1 Y 1 1.70
4.98 JERS IR ﬁmﬁem;aeun;@; 223000mSC 4) 4 10. 15. 63 i 1 1.65
5.12 [# 3% 721500m 81) 6 4.30.81 1 1.65
5.12 [ 5f m; $ #1500m 3h2 4.31. 14 1 1.65
1 1.70
[ 48] % I8 91.11. 7 159- 42 (FUPEK 3 W) PB=10. 59. 49/QB=10. 59. 49 1 1.70
5.11 J& [P A #3000mSC  18) 3 10.59. 30 1 1.59
1 1.62
[ 61] @&Hﬁﬂ{— 92. 9.12 153- 43 (UK 2 5#H) PB=10. 39. 35/QB=10. 39. 35 6) 1 1.74
4.21 HUPE KR BRI R (F511RD) #3000mSC 2 11.09. 96 i 1 1. 66
5.11 BT A 43000mSC  16) 1 10.51. 74 RBFF s ttﬁw 2 1.68
[ 62] 2 A% 93. 6. 2 164- 53 (VAA YT A - h‘g\' PB=10. 30. 08/QB=10. 30. 08 L 9. 2 173- 56 (FEK SHER) PB=1.74 /QB=1. 74
129§ JB v 10 6HS  36.03. = Bk 53) 5 1.66
2.05 v iz/\—ﬁw JE ) 2unr  1.18.32. 1 = BBk 48) 2 11.61 0.3
5.03 T (R FERE- /5 3000msC 22) 3 11.16.45
5.19 22800m 100) 2 2.15.04 7. /QB=1. 87
5.20 721500m 87) 1 4.31.12 7Y i1.75
S 1.80
[109] FAE - ) PB=10. 05. 40/QB=10. 05. 40 5[ 1.75
4.07 K& #&1500m 52) 5r2 29. 06 EiOnl 1.83
#3000mSC 3 10.13.94 S 1.82
— R gin< £25% 43000 68) 4r2 9.32.63 A— 1.86
— bk win< A% %3000mSC 3) 1 10.08. 35 T 1.80
AT 1.80
[112] FESET 91.10. 12 153- 44 (UEKR 3 50K PB= 10 59. 81/QB= 10 59. 81 p-3:3 1.83
4.21 HUEKR SRR BB 2 (B 1)) 3000mSC  29) 3 .37.22 : e 1.80
5.20 J& SIS 1.80
[154] — 44 UNBZ LA - B PB=91. 34. 14/QB=10. 34. 14 5.26 KikK PGS 1.80
2.26 > -737)7  102) 3 1.15.31.
1.28 1£3000mSC 7 10.44.15 [243] i EAL 90.11 9 162- 53 (I K /QB=1.76
5.12 £3000mSC 9) 10P 10. 40. 13 4,28 JlE K \IE)\m? > (552[E) 1.75
5.20 [€ 31 B P 1.76
[163] bl 92.12.21 168~ 49 (fallk 2 StJifi) PB=10.07. 79/QB=10.07. 79
5.19 fL A 4:3000mSC  15) 1 10. 47. 80 [251] Dg’\ﬂ:)ﬁﬂu; 85. LI 77 53 (haik”s /QB=1.75
4.01 HixC 1.65
[202] ’M 6.23 157~ 43 (/3= 7 « #7%) PB=10. 30. 93/QB=10. 30. 93 4.07 % Bl l:m{ 2 (1) 1.68
4.28 ) i 3 #3000nSC 5) 5 10.30. 93 4.14 Hy fl % 1.69
5.20 :ﬁ : £5000m 16) 3r2  15.48.41 5.13 &R 1.70
[220] 2 11 29 165- 47 (GUEBEHEAC - 5U46) PB= 9.33.93/QB= 9.51.88 /QB=1.78
4.21 E{E & (€315 £:3000mSC n o1 9.56.13 1.65
4.28 43000mSC 1 9.57.17 1.70
1.70
[240] PB= 10 02. 24/QB= 10 02 24
2.05 )y 4) 4 L. 7 [272] #& ®wFE 87.11.20 177- 57 (KWE K7 /QB=1. 75
3.11 éé. TR ~ Z~F Y 19) 16 2. ;1 %9 4.15 HLE A LK (F20R) imL 1.65
4.15 Hﬁxfﬁnu H%kliﬂhh#m A(a%zzzl’!) #5000m iR 60) 4mix24 16.07.17 5.20 fE & HH ARG 1.78
4.22 fh S ) —=s 7210000m 26) 19 33.16.46
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4.22 T bl ;/;fggﬂé& 5 2 6.30 1
= oy =] - g 5.04 Kk LR 1 6.22 0.
<ZFESHRHZEED2012F T EZ/ME>
[ 46] =FHCERaH 93 4. 11 166~ 54 [GlzEwN 1 felif) PB=6.14  /QB=6.14
[?%l fhs AR HR-RE (TR - BEK) PBe EIE:E@R/QH— i 2.04 KBhk HA PRI Y 2 =7 RN e 55) 3 i5. 69
e fEH =H b3 5.12 & J& BIEE LeEERk 3 5.58 0.
[ 59] ﬂmv)*% 82. 4.12 180~ 63 (K27 + JEJy) PB=6.56  /QB=6.56
[ 3] #k v Lm 9,28 163 50 (HER 4 #lil) PB=4. 03 2.11 7 A4 T A 2ok lERE  JE 1 6.13
3.03 K L. PRENEEERE Bk 4 3.0 e 7#?7 % ~ LEE Bk 1 6.09 0.8
4.08 A{AK 'T'j'( IHMUH‘ Bk 1 3 A aa #100m 512 12.05 -0.
4.15 uﬁ:)\f& uf$)\$#»ﬁﬂit»n&A Lot b 1 3. avs ZokdEpk 1 6.02
4. 21 AAREE VK22 ESi 3) 1 4.07 vt v U AL #100m 5 11.84 L
4.28 JRESIRIK Tt Bk 2 4.20 Wity YUYy - 4100m 3rC 11.82 -0.
5.12 [H 7 R Lok 1 4.21 vty b ML /7 Y L— e Ewk 2Inv - 6.43 -2,
4.29 JREDIRKE  fk #100m 13) 5h3 1179 L
[ 9] FffrH% 88 3.17 175- 53 (LA 7 A¥— ) PB=4.25 4.29 JRESIRER ££100m 4B 11.92 0.
2.12 %= ém'ﬁ SENBEHRE 2 Tt 1 5.06 %% 77 > R X ) 1 6.67 4.
3.03 ik il EBRE N LBk n 2 5.17 K & *rrrl_l\i’f‘ LR 49 3 6.45 0.
5.19 J& I BM%%H TR Bk 1 5.19 b if LA TR RY—2 JE R Bk 3 6.45 0.
[ 14] Al & 90. 7. 4 155~ 50 CHBK 4 ¥ E) PB=3.80  /QB=3.80 2.30 164~ 50 (SZAvK 4735R) PB=6.17  /QB=6.17
ST BIHAE Ik 13) 3 3.70 L3 #100m 192)  2hl 12.38 1
TEERE X 08 5.
[ 19] Jifiz ); 84. 7.10 168~ 53 (L& LEE - FEE) PB=3.90 L ERE Lk 5.88 1
6.03 & [ m%ﬁﬂ"tn fkax (100 Aokkripk 5 1 i i FLGR A 100m X ) 3 12.23 2.
5.04 ¥/ it %‘ﬁ'ﬂrﬁﬂéﬂs EERE X 1 6.12 2.
[ 35] %4 1.25 163~ 49 (h—x/L - BiE) PB=4.00 5.12 & & B Lo gk o1 6.17 -0,
2.19 1 M PR FHE T e 6
3.03 IR SR OEBRENESRE  LEmBk 5 [ 90] mm B 91 8. 2 174- 54 (FFERUK 3R PB=6.09  /QB=6.09
3.23 & P AL R 2100mH 18) 1 13.76 1
[ 50] A @+ 91. 7.27 153- 50 3 T#E) PB=3.90  /QB=3.80 3.24 & 4t HACE BB T EEBE 8) 1 6.11 0.
3.30 & i TS Lﬂgm%m% \.fw’/ﬁ(ﬁ%aol—! T Bk 3 i3.60 4.08 % e £100mH 1r2  14.41 -1
4.15 SR Sl g [1) Tt Bk 9 1 3.80 4.08 5 % e LR 1 6.05 0
4.28 r“til*hdc e PR AR Lotk 5 3.80 4.21 § A BETFHE (G PR #100mH HEP  14.14 -1.
5.12 [{ 3z B4 BBk 4 3.60 4.22 A0 OGS FAE (G PR T EEBE HEP  5.72 0.
4.22 # A T (,Pmﬁﬁz) e 1GP 5236
[ 63] /hEIGINE 93 6.11 158- 48 (fiffik 1 T-%) PB=4.00 4. 4.29 RIS IIR % #2100mH 6h3 13.88 1
2.04 KBk PHERLY =T RN KBk 1 3. 4.29 IR SR #100mH 8rB  14.05 1
2.05 KBk Va =T BNRRERS LBk 1 i3.70 5.11 B Al TRk 1 5.92 1
2.12 Bl 0 ENBE 2> i Bk IS i3.60 5.12 i ££200m HEP  25.10 1
3.30 & il TEES b= %féﬂt gy (H5500H) Lokl 3 i3.60 5.12 Hii #100mH HEP  13.96 0.
4.07 B #&k’{iﬁ? ke ESi 1 3.60 5.13 Fii #:100mH 1 13.91 -1
5.06 # [ B 'f—im’r?%r—:ﬂ% CENET A AT 9 1 i3.80 5.13 it £100mH 1h1 14.11 1
5.12 [H 7 B Bk 5 3.60 5.13 Hi 2Rk HEP  5.75 0.
5.13 i g 1 5094
[150] fEf . 6. 6 161- 56 CHT R @B - T3E) PB=4.02 5.26 2 (55201) #100m 152) 2 12.31 -1
3.21 %L Je= T B 5.26 thEUK 2 (F520H0) %100m 2h1 12,37 -0.
3.23 A JLUD"‘ZV\WEHW Bk 6.02 & 4:200m 75)  HEP  24.99 0.
3.30 & i ;W%ﬁlﬁt”dﬁ’*(%qo\u\)& =) 6.02 & fF #100mH HEP  13.91 -0.
4.15 T 38 Lok e 6.03 & Lok iEBE HEP  6.04 1.
4.28 JREH IRk Lok 5) 6.03 & % ux@;;f&mﬁi LLtE 2) 2 5430
5.06 i i §kx (F6[A1) Lobs sk
5.13 & fodka GHTI) Jobknpk [102] gt #+ 90. 9. 13 160~ 48 ({ i 4 4@0) PB=6.48  /QB=6.48
4.07 f@hiK 0 *A(’s%ln) T EEBE N1 6.48 1
[157] i 3 PB=3.80  /QB=3.80 4.22 2 LikEEpE X 3 6.20 2
3.03 Yl i3.72 4.22 # F & g Bk 3k 6.16 1
4,14 P UhER I 20P  3.50 5.04 K K 3} v 3 6.17 0.
5.05 H fA ik 9 1 3.80 5.19 Z0HE  UNEE T B R Bk 1 6.17 0
5.11 & J& T Bk 2 3.80
4 CJ - A% PB=6. 44 /QB=6. 04
[172] #M & 92. 7.21 161- 52 (IR 2KP0) PB=3.92  /QB=3.92 5.20 fiE A& HOH AEHE EmEBE X ) 2 5.95 4.
2.12 BlEF ?’?JHL.—EWHJEE%’ IEsE] L e 2 i3.80
3.03 itk AR R O 4) 3 i3.92 [128] ik EBRE 91, 6.22 165- 55 (th K T’“) PB=6.48  /QB=6.48
4,14 785Uk m Lok 10P 3.60 3.21 BOR R EREFA—T t:ﬁw X 1 599 T
4,28 IKKSIEIE & A ESia ] 4 3. 90 3.22 BOk BARCA AR A —T ;’zJA%ﬁE 1 11.92 0.
5.04 K & 7}<ﬁrh’#ﬁ’ﬁ Lok 2 3.50 4,08 HRKHEEGE k- HARISH% L ENERE 1 6.11 1.
511 & & [P A i E bk 1 3.90 4.08 BRKEES k- B KL T = Beik 2 11.83 1.
4.22 # F EEY L—h—=,UL T B R BE 4 6.16 1.
[175] e 3HiE) PB=3.80 5.04 K 7 7J<T'M7M# trtmaﬂét 2 6.19 1.
1.29 # i Bk 1 5.13 ST = IiJL 15) 6 12.34 0.
3.30 ¥ i ) i e Bk 5 5.19 [H 1 LB D1 6.48 1.
4.07 B 4 Lotk 2 3
4.15 L R LR bk 1 3.60 [140] Ak pk% 94, 4.30 161- 47 (BEVdibkd 3N PB=6.10  /QB=6.10
4.21 @ A LBk 1 3.60 2,05 KBk AL I’?)\W}\f: LB 3 i5.71
4.29 & [ Flgk e (G5l Zbs ik 13) 1 i3.70 4.29 B it [ 1) LR 9) 1 6.10 0
6.03 & [ 2 (J10[a]) Lotk bk 2 3.60 5.13 fHEpE gk ( %zﬂttmmwﬁ 1 5.71 0
5.31 B 1 1 5.86 0
[198] fhm % 88.12. 6 164- 57 (K (2/5)%) PB=4.23  /QB=4.20 5.31 W it /\tlhmlﬂt 102 5.53 -0,
.19 L M T YT ENETH Bk 2) 3 i4.15
4.28 JREIRNE  f ; k| Lot Bk 1 1,00 [142] #ZAFHRSE 85. 9.20 163- 45 (FHMLIEIITEER) - #07%) PB=6.08  /QB=6.08
5.04 & 5 Tk 1 3.80 5.27 ABLR FRBIE T R T EEE B O67) 1 5.65 1.
5.12 [ 3f B ey 1 3.80
[148] ZEHM Ah0 93. 9.27 160- 49 (H¥K 1#5AK) PB=6.08
[201] i 3% 79. 3.12 167- 58 (“iRiGAE - #)I) PB=4,32  /QB=4.32 4.21 FHE AR Lot
3.03 K W - i E R E N KiEabk 7 6 i3.82 4.28 l!%k%’?& e (BT T B R Bk
5.19 S B s A?‘E‘L’mlﬂt X )
[211] Hﬂ/ml» 87.12.23 158~ 47 (ﬂ&:—:ﬁﬁm - I ) PB=3.90  /QB=3.80 5.19 [ 1 B AU LY 17)
4.21 EH R ULIR S0 A v e Bk 1 3.40
4.28 4.;\2]{ T Bk 6 3.60 77 3.10 167~ 55 (HALR HS - EH) PB=6.30
5.13 REN i S0 ke Bk 13) 1P 3.70 4£100mH
5.26 HOR bW R (2[R Lok 2 3.60 vl
#100mH 41)
[239] M &<°7r 84.12.18 161- 54 (7 7% A — - JAL) PB=3.90  /QB=3.80 ££100mH
2.12 @Bi5 ¢ )| SR BB 2 Lok B 18) 3 i3.60 £ 100mH
4,08 P5H A PFCER S G 110) Lok e 1 3.60 o THE r' k Lok e 97)
4.28 IR ek 7 3.60 HAHE FHER e 32)
[200] q:g%qu BE90.11.23 164- 53 (HLK t%@i) PB=6. 44
= =] - g 4.01 B 3 s E ) TEBE X
<?¥ﬁ¢mﬂbtﬂiﬁ%0)2012¢$§ﬁkfﬁﬁ> 101 Fik SR (7 e
) B 4.15 K S KWy (9 £100m
[#5] K4 EEAR HR-EE (TR 4.15 HLEK LR
HAH S Bitias &E 4.22 R X
- 4.22 #f T EEBE
1.29 5k ££100m 25)
245E) PB=6. 02 /QB=6. 02 4.29 5} #Z100m
LB 2 5.61 13| 5.12 [@ 22100m
T nEBE 25) 5 5.86 0.5 | b5.13 [5 42100m
LoEmERE < ) 6 5.90 2.9 5.13 £100m
EhaRk 6 585 0.5 519 [# L EE 6)
245 k5) PB=6.14  /QB=6.14 [246] # - f@lid) PB=6.65  /QB=6. 45
LR 1 5.66 1.7 3.10 7 LotiEdE X 1 5. 4.
ﬁﬂlﬁﬁdlﬁ X 6 5.99 2.4 4.07 & LR 3) 2 6. 1@ L.
T hEBE 6 5.79 2.0 | 4.22 % Lo BE 1 6.35 1.
LRk 6 5.61 0.0 5.06 %% EERE X 4 6.39 3.
#2100m X ) 5 12.38 4.4 5.06 %% ik 4% 6.14 1.
LR X ) 1 6.10 3.7 | 5.20 #i4 EERE X 1 6.28 2.
ZEhEBE 18)  1Ix 5.92 0.4
[276] #ARRE T 95. 3.17 172- 58 CKACFPid 3 KPR) PB=6.03  /QB=6.03
[ 37] FHFAZETF 81 1.10 165- 53 (i DEAR - =) PB=6.86 /QB=6. 39 2.04 KB AA- iRy = = 7 RN f?CALm ik 2 i5.69
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=5 . XFEFEEEEJ:ME% 2012% 8 pr10sE

e RBE 2 SRR LGRS 1 11.89 0.8
£100m 1r4 X ] [ B 8 12.31 0.9
Rk lel X [S[EE=Ei 49 1 12.89 1.5
22100m 4 .
#100m 1h4 . 60— 51 (PFHZEHE - F4) PB=13.50 /QB=12.93
LeEiERE 1 . 5 LBk X 1 11.81 3.2
4100m 172)  1hd . 3) 3 12.93 0.1
Z100m X 1rd 3.8 1 12.92 1.1
L EBE 16) 1 .2
BBk 1Q1 .5 4.19 168~ 53 (i Ffaths - i F) PB=13.03  /QB=13.03
#100m 8 2. .3 (BRJ ”rii L’zﬁwk 1 12.22 0. 1
. 3 22100m 4 12,53 0.2 13) 7 12.37 0.0
2T RIEH ﬂ&ﬁﬁ& #100m 3s2  12.45 -2.1 1 12.33 0.3
- | =] - g Tl =] - g
<ZFZEBHHIZED20126 T E/mIE> <ETFRAIZHIZED2012F T E/ME>
&) K4 EEAR HR-RE (T8 - %) PB=H CLick [#5] K4 AERAH HR-RE (TR PB= [ CL it dk/QB=1
AH 8 [ fiH AH 5t Biias 24 HANERD)
[ 45] Wil B% 93.10. 9 169- 57 (HifEK HMr) PB=12.58  /QB=12.58 [ 8] WJ‘? 7 91.12.10 171- 84 (KIKK 3LifE) PB=14.49  /QB=14.49
4. 14 BGEK &Mféﬁ%‘ Fithie G T Z B 12,17 0.4 3.18 Kffk RIKR B (F8[E) L3RRS 1 14.08
4,21 FABLR R = mk 101> 12.11 0.0 4.14 KRR RIERBE 2 (5511 Trfiafik 1 14.35
4.28 HGEKR % Kigitesx (H510)) =Bk 8) 1 12.58 0.8 4.14 KK kﬂthix,*(a%m) Yl 33) 1 42.71
5.13 [F 37 B s I = Bek 7 12.21 -1.0 4.22 4B 7 S Y L—J— =31 Lefiahufe 4 14.35
5.26 HfEK HUHE R H AR (56l 2 = Bepk 1 1.82 0.9 511 & J& £ Il 6 1 14.45
5.12 & J& BG4 T AR 6 40. 34
[ 57] [W%3ERET 91, 4. 7 163- 57 (ikfkk  33ix0) PB=12.78 /QB=12.78 5.26 KIkK Rk Rt (H5200) 3 biEsS 1 14.11
4.07 BRI HCARK EMEBE 2 (55 10H) wEERE X 1 5.60 3.0
4014 #RIER B IR R 2 (52la)) BBk X 1 11.66 2.7 | [115] #efE Ackk 92 7.21 161- 68 GEAMA 2 KBK) PB=14.63  /QB=14.26
4.21 i Ai HAUR T =Bk 1 12.33 0.5 . PN / LS =S Lefi s 1
3 Wit (B 730A) B RBE 13) 1 5.97 1.7 T gk
Z3 = Bek 5 3 12.78 0.7 il sid
e BB X 5 .92 2.5 LR
BB A BB 5% 5.76 0.6 TR
TR
i 86.10.12 162- 48 (FIHEHEHIZE - KB PB=12.94  /QB=12.79 LR
7% LT Ri ek (F561MT) BBk X 1 11.29 2.3 k3
B 2 A 55e 2 (5 31m1) T = BBk lcA  11.83 -0.7 Tk
FUKBRT 3 A fts LBk X 1 11.73 2.1 LR HE
%EELRMD TRk X 1 12,15 4.1 EI0FE S
LAnEERE =Bk 1% 12.13 0.7 TR0 &
ﬁ”’(ﬁ%l!_l RIEEE) 1 11.81 0.9 Tk
12) 6 12.38 0.4 oo #
2 12.06 0.4 w0 B
hIALE
PB=12. 46 70 &
5 L fEE
13 w0 B
10) 1 2.0 Irehiahuik
BLIR )1 k5% (51 [A]) Lehiu
H 1 -2.2 ks (55 1[01)  fEE
e 55) 2 5.69 0.4 k2 (1R w0 B
e 1 12.31 1.4 (%m RIESY) ki
iﬁ(%lﬂ RERY) LMRE
5 90. 5.16 172- 55 (@ K 35 PB=12.97  /QB=12.97 TR USE:d
3 4% " sl 4= B 5 12.44 0.0 VAl B L—h—=sL AL 17)
[ BB 2= Bk 2) 2 12.97 1.3 J= KB 77— =731 TR0 &
=) B s B R Bk 41) 8 5.73 0.1 Fid [E] LR &
) £l LR
[114] f&@E K7 81. 7. 6 168- 55 (F—AI X/ - #H4R) PB=13.39 /QB=12.77 & L3RRS
5.20 fiE & HH AR EEEE X ) 2 5.95 4.7 J& Ly ulizitd 54)
J& LR 2)
[158] #TH/NES 89, 8.29 164- 48 (lLifEiiAA 7 - Atm) PB=13.16  /QB=13.12 : i PN R
5.03 &% i ][] ¢ = L 6) 4 12.75 0.3 0 1 SRR S ESEE<ie
5.19 & & HH ARG = fyt 2 12.55 0.7
[121] & F= 89, 6.11 160- 77 (H+:42 « H5U) PB=14.81  /QB=14.45
[191] EPE b 87.10.13 160— 54 (FEAK MIfEZA) PB=12.84  /QB=12.57 3.27 [E+tX E K FiHE (F8lE) Il 2 14. 00
4.01 REARRARF RS2 SRR 1 5.60 0.0 4.22fF Y L—h— =L bk 6 14.21
j ﬁnJHﬁﬂmm;L T EBE 2 5.55 0.0 | 5200 & HH ARG EShkRe 3) 1 14. 89
JEARBLE T B gk 1 5.68 0.3
= Bek 1 12.35 1.5 | [135] FF@ic ¥ 79. 4.16 164- 85 (BBt - BE) PB=15.47  /QB=15.47
APLLT ¢ — A RTHE ZrEnEBE 1 5.61 1.6 | 3.27 [HEX RN e C ) Irehighuik 1 14.86
z‘x%\lﬂ%fyt 27) 2 5.85 0.1| 4.22 4 5 S ) L—h— =31 bk D1 15.21
= Beik 9 1 12.53 2.0 5.20 J& W [ELEE=SEil Lefa i 1 15. 00
H 91 3. 3 175 ¢ 65 (EEJ:'{M( 4«“%) PB=12.35  /QB=12.35 [139] #hf% 7EFEL 89. 5. 1 166- 55 (. K 4 #7%) PB=14.20  /QB=14.20
UM A B 2 (B 1m] iz B 1 1L.75 12| 4.22 ff 7 SR L= — =31 bk 10 13.35
T SR T E&%ryt 1 11.40 1.3 5.12 [H 11 B L 13) 3 14. 04
JU A t:&m 14) 2 12.35 1.0
[181] Jn& #iT 93 6. 2 176- 94 (HLHK 1 #hi#) PB=14.12  /QB=14.12
[225] SFH  #F 90. 5.14 165- 60 (B K 4@; PB=12.36  /QB=12. 36 3.10 it #f PR AR R faiL 1 13.08
3.22 Ok R A —T =B wt 2 11.64 1.1 3.10 9 i I A G el td 2 46. 26
4.07 [H+K [ERSNTEEECAIED] il';lrxwt X 1 11,84 2.4 | 4.14 PR m&)\ﬁ&r(%’zw) AR 5 42.47
4.07 [E+K 5] KE 2 (F510RD) 22 = Bk 1% 1L73 11| 415 HEK LR (F52[R]) LR 1 12.68
4.15 [H 3 PSRRI I = BBk 0P 11.31 -0.3 |  4.30 5K S K () LB 2 13.51
4.15 [H 31 FRUN KRR =Bk X 10P 11.50 2.3 4.30 P K HU KB (H5300)) Lyl 2id 17) 4 46.28
4.29 HEKMEGE HIAKBES (B730E) T Z BB 1 11.88 0.5 | 5.12 [H 2 BIHAE /A R 10) 2 14.12
5.13 [# 7 B s I = BBk 22) 8 11.94 0.6 5.20 [ 7 B yulitzitd 4 45. 40
[241] A%  # 88.10.10 167- 65 (F—LI X/ - r%) PB=12.88  /QB=12.45 [221] JHTFEF 91 u 8 162- 86 (E[A Kk 3 L) PB=14.02  /QB=14.02
6.03 & HAEFHER AR #t 35) 12 4548 3.11 8] 4 L= ]“E#F}r#mikxlﬁ‘ﬁjh& 1 13.42
3.19 745Uk mdx > (H53[A1) ESbikie 1 13.28
[244] i Fo#&  90. 7. 9 170- 54 (LK A45F) PB=13.10  /QB=13.10 .01 B 41 F A LR 2 13. 61
2.19 fL M T VT ENETFH 2 = Bk 5 i12.77 4.08 A 5 Lﬁfgﬁcﬁk% Lk 1 13.41
SR B R (B2 22 = BBk 1 13.08 0.0 | 4.22 #f 5= JIJJLJ V H—==r9L LRI 18) 9 13.77
il [E] B it4F’Lﬂ4t 2 13.10 0.2 5.11 & J& B fat 4 13.47
B s A =Bk X 1 12.97 3.4
B2 tz - Pk 1% 12.90 0.4 2.24 176- 83 (GH&K 2 f&ff) PB=14.42  /QB=14.42
A (B30T Irefighuik 2 12.71
[255] =l #0189, 4.29 170~ 57 (LK \Alfm ) PB=12.76  /QB=12.76 Pehk 1 13.76
5.13 [E 32 PP 98) 2 11.24 0.6 Vsl Lot 3 14. 42
9 [H { it»LrI' 98) 1 5.58 0.8 5. & A Il 2 14. 09
512 K J& Fﬂﬁﬁ+i_ ESEE < 83) 7 39.47
7R /t J£BF) PB=13.10  /QB=12.76
= Bk 21) 1 12.03 1.5 | [250] #2m HE 93. 7. 6 160- 86 1 £ E) PB=15.04 /QB=15.04
it wat 1 12.03 1.5 3.20 | J2 BEREFETELRE Yk 2) 1 15. 04
BB X ) 2 12.14 2.2 PUARFRHAE Irefiahuik 1 13.85
= F’Lth 2k 12.01 0.7 S L—d — =31 bk 5 14.30
)\wi.th(%ﬂuf) Lot 1 13.57
[264] =4 i 92.12.12 159 47 (BEEIK zEMr) PB=12.71  /QB=12.71 Il 1 14. 41
3.17 # K ARBEHL R (F15(R]) = B 1 11.84 0.2
3.26 [EH4K EU_)\M/* 58IA0) =B iyt 1 12.29 0.0 | [277] fRTVIn%i 47%[1) PB=14.73  /QB=14.48
3.27 [F4K [ 1 KiE e (F58[R1) ttM 1 5.78 1.8 4.08 7R YRl sid 1 46. 84
4.21 fi A Jimﬁé%? ﬁJdJE 1 1191 0.1 | 4.13 Fasthii Irfia ek 5 1 14.48
4.22 B K BB 21) 1 5.8 1.7 4.14 FExT yulitzid 1) 1 47. 60
5.13 [H 7 &f&ryt 7 4 12.71 0.6 | 4. Lorye—iE 96) 4 0. 16
5.19 [ F LRk X 13 557 2.2 5. T 1 45.99
5. EYEEEsig 1 45.75
[285] (LR LA 88. 9. 5 161- 49 (RMilikels - StkE) PB=12.89  /QB=12.89
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[286] |L%fin #E 87. 1. 7 170- 73 GRIREAKY - KR PB= 14 97 /QB=14. 53
4.30 HUEK AR 2 (31 hefiahup 22) 13.67 [277] R FmZssz 90 5.0 175~ 68 (sUBEK 473FL) PB=47.60  /QB=47.60
5.20 fE & S ESTRERS .; 12. 49 1,08 TESCHEMS SCELTACE [k 1 16. 84
4,13 FisC AL 5 1 14.48
[290] #& T8 86. 7. 1 167- 85 (M EREM - ¥iE) PB=15.37  /QB=15.37 4. 14 7E U yulitzid 1) 1 47. 60
4.07 HlER J:AA:)\H#%%&A(%HM AL 1 14.04 Loy 96) 4 40. 16
4.22 pp F i) —=sr AHA I 4) 2 14. 66 . i Cyuliie 1 45.99
5.20 f& & %HA%%%H ESTRE 2 14.62 5.12 & J& g 1 45.75
[280] 9%4’5\ #izs 91) L ;2 uz%; 72 (EEX #I'[EHE) PB=46.90  /QB=46. 90
4,28 EHLEK [ESRPN i 2[A]) A 4 38. 52
< t%FEJ *X& 15%0)201 2¢EE¥EJZ"?E> 5.20 [€ 37 B s g 41) 7 42.04
(& 5] K4 EEA R HRE-AE (T8 - BGk) PB= CACHk/QB=% 1K indk [304] & #§ 91. 8.13 173- 69 (JuMdtsz K  3#@Mi) PB=50.40 /QB=5
Hi s ks FEH 126 HARNERD) Ak 3.10 9 vwﬁwg? Lok A 1
- 3.10 #f ﬁ’m ﬂ ek 2
4. JHAEST R JLJ‘ qElitid 6) 1
i A% 91,12, 6 172- 85 (MK 3 JhHl) PB=50.27  /QB=48.05 4. I rse—H 2
N FLIERP T & Wi I AR 2 43.17 4. L= 1
SO Kt (1) EqRE = 1 47.04 4. yulitzitd 1
UK BEL 2 (F2lm) PElEd 3 43.70 1.2 ry— 6) 3
SBRIE 2 (F330) EqRlisid 9 3 48.05 4. 2¢ Sl <ie 5
FL Ktz (55301) rR=1% 3 47.10 5. ry-$ 2
B?I%+ : % 32) 3 49.71 5. Ly glitzid 1
[ESL EqREishg 3 46.59 5. ROpIEES 16) 1
552%@5;? 2. 8 yaf 71 ('T‘*.L\ix"i/t - ) PB—52518 /QB=51. 60
SRR R e/ d 17) 1 50. 38 =]
makugm eI o0 I s <TEFNII—HHEIGED2012F T E/FE>
TR EaRkieed 10) 7 47.79
LR $ 9 50.13 [&5] K4
Sk 1 48.91 AR G
EYRE S 2 45.52 - - - -
[ 65] /NER#ffd ¥ 90.11.14 162- 68 ([H+K 4[11) PB=50.45  /QB=50.45 [ 6] #m $nfE 87.10.18 167- 70 (@)l ks « KPR) PB=57.29  /QB=57.29
3.28 [E+: [E - KipEEs (581l TR 2 47.88 3.18 P xUfE ICEZ R e 2O RIE] ey 1 53.01
[E+-Kpet 2 (5E8(ml) v 1 51.61 4.22 ff S Y L—J)— =0 2y 1) 6 53.88
KN~ — ek s ey 4 49. 68 5.19 J& I B 75 5 2 rve 2 53.45
PUR L xR 1 47.27
PO - 1 19.83 [ 1] # ~F0E 80, I 1165~ 75 (il - 7)Il) PB=67.26  /QB=67.19
ik A i 5) 4 50. 45 414 A A BRI Mﬂt BT E sk Loy 1 63.43
PR B 12) 2 53. 60 4.22 fb 5 Juhf L —=sb d 1 63.79
BIHE % 2 48. 26 5.05 H ﬁJIILr&J—kE 3 D o1 64. 06
5.12 3 TSI — =31 7 1 63,87
[ 80] deii ;ﬁi 89, 7 21 JJifi) PB=48.42  /QB=47.56 5.19 J& I 175 5 2 B 1 63.45
4.29 KR IR R W o13) 8 46.93
[ 18] @Il wWH ¢ AR 3FEE) PB=53.11  /QB=53. 11
[92] HT %% 4 K3%) PB=51.34  /QB=51.34 2.18 WEMAE 4 1051) FL 1 12.95
4.01 SR i&mn 2 (F510E1) ilizd 3 44.44 2,18 WA 1[a]) & S 12.92
4. 14 HUEK 2 (F520E0) LA 2 45.31 2.18 M5 1[]) Bt IHS  38.07
4.15 FLEKR ét(aaz[nl) E 55) 3 16,17 2.18 WSS =) 4 48.83
4.21 IR i (552[71) T 1 49.11 2.18 MEMYES 1[F]) - 1HS  48.14
4.21 HE iR % 2 (52[00) T 2 41.99 3.18 M5 2[a]) B 13.25
4.30 S K rmﬁz)\»x&b (553[11) LA 2 48. 60 3.18 W5 H52[m)) Bt IHS 12,45
4.30 HE A FLIE KR (5301) % 4 45.30 3. 18 M55 3 (H52[01) A 1HS  38.92
5.05 HZ{RK % %ﬂ_w&mf”\(a%m) EyuEised 4 1 51.34 3.18 ISR 32[1) - 1 50.93
5.13 K 33 = 6 45.25 3. 18 M5 2 (520 7 % 19) 1HS  53.11
5.20 e 1 51.13 3.31 8 Y e 1 12.97
3.31 1 M a 1 52.19
[120] % 83. 8.7 — [+ + HOP) PB=52.40  /QB=52.17 4.14 W5 P9 3 1 13.26
3.28 [EH+ : H58[Al) EElisid 51.12 4.14 W5 M % 1 51.64
4.29 JERIEIR  RkmE R YRl Td 3 50.94 4.15 15[ Bt 2 40. 62
5.19 fig WEPNESE e AR 2) 1 53.42 4,28 Y fy 1 13. 20
4.28 15 4 i 1 39.53
[145] $nk 1 - JiRT) PB=52.46  /QB=51.22 4.28 w5 Y Bt 1 51. 66
4.07 HC ] 1 45. 94 5. M a 25) 2 13.38
1.29 i g 7 6 149.77 5 ] -fr 1 52.01
5.19 fig ZKUHII PR 2 47.39 5 q & 3 40.74
5 i e 32) 2 42.74
[159] k) PB=52.87  /QB=52.87 5 [ fy 3 49.33
2.05 % e 1 19.48 5 ] g 1 12.94
4.01 A 2 15.84 5 q i 2 52.10
4.14 # ¢ 1 46.95 6. il B 1 42. 44
4.29 5 3) 2 51.83 6 ] h LB 1 13.21
4.30 e 1 48.92
5.20 g 1 46.23 [ 54] K 772 92 4.13 166- 76 (5K Z’Fn:fk) PB=56.73  /QB=56. 73
2.05 SR LR P T SR s 1 54.01
[160] @iffi Tk 90. 9. 9 175 92 <nm 37K 4 FBHY) PB=47.81  /QB=47.35 4.15 SRR L KR (F20R) 8) 1 55. 11
4.07 JUNIESER JUNIESE KBRS (B 1[) EYREsed 16) 2 46. 40 4.22 Y L—h—=31 9 50. 69
4.15 fHZORK fa\mlmﬁl\z:ndi% S oK) LA 3 43.09 4.30 HPEAR HUREEEZ: (3[A) 38) 4 12.90
5.19 Z 0 U e g 3 45.27 4.30 HHEK mﬁ)\m&ﬁt(;ﬁs\u{) 1 53.13
5.20 Z DA T ES kS 35) 4 13.02 5.12 [® 5L 9 12. 66
513 H XK : 1 53.91
[181] - 94 (Stilek 1ifiifl) PB=46.28  /QB=46.28
3.10 AL 1 13.08 NEFHf T 90. 11 14 162- 68 (4K 4[i1l1) PB=53.60  /QB=53. 60
3.10 il f@h—‘ Rl i 2 46. 26 [EEESPN [H K FEE2 (F80E) PR 2 47.88
4.14 HUEKR %ﬂ;fikﬁﬁ&%(’%z!ﬁl) EYRE g 5 42.47 LH—jc RN R E C ) e 1 51. 61
4.15 SR S R 2 (F5208]) LA 1 12.68 ERLTE 7< HM\/\/ = Lore—f 4 49. 68
4.30 SR FLE R (55301) Lefiahupe 2 13.51 gl e 1 47.27
4.30 K mT"i’(m&/ﬁ(ﬁ%dl—l) ESREsed 17) 4 46. 28 - 1 49.83
5.12 [H 7 33 e bk 10) 2 14.12 yEkisie 5) 4 50. 45
5.20 H L r;;ﬂ:?i e g 4 45. 40 Loy 12) 2 53. 60
Cyulisig 2 48.26
JEHITE 88, 3.30 165- 72 (1. mo s t -+ #IL) PB=47.22  /QB=47.22
PNISN L EC )] T A 1 44.33 3% 94. 5.21 161- 75 (ﬁﬂ%ﬁ‘a’f-‘% diﬁm PB=53. 73
LRtk LR R (R 10 T R 1 42.93 R RE R C & Lenye= 1
S T P 1 43.31 & KA e——&ﬁﬂ 1’::/\ 2
El-E=aril T AR 12) 1 47.22 & B e S anPN Loy 1
R il LA (5200 TR 1 15.16 ﬁ ALK Tis abiEs ) 1
TE By tense—fE 9 1
90. 8.20 161- 63 (JLHILSZK  41l10) PB=46.64  /QB=46.64
”‘JL—;L’?:‘;'?;‘“'C s (F510R]) EYREsed 3 45.58 [ 70] Jmig #5F  90.10.29 158- 65 (FFTk 4 =) PB=54.76  /QB=54.76
i HAGESR (2 0 %) ﬁPm&“ 5 39.58 .24 5t hE A kE R 2 drrnse=% 17 1 53.38
HE T A 1 43.46 4.14 fF+ B4 = EIRER KRS S 7 1 52. 49
2 (51 iti'uLQ 58) 1 12. 50 4,22 = LEY L—h—=L e 8 51.84
EJCARAUE i 15) 1 6. 64 5.12 Ki U - 1 50. 55
5. 23 170- 78 (EJ*FE 7 - fky) PB=46.81  /QB=46.81 [116] f:jif #53% 88. 1.27 162- 67 (HIREE Y %) PB=57.10  /QB=56.74
1’“‘“'1];.— HT%E%%(%HE]) il g 14) 1 16. 81 108 fill & HL P RS ey 1 53.09
TR SR A C & Tegks (2l MR 1 44.03 4.22 0 F FE) L—— =31 e 10) 5 54.07
T U7 % P lizg 1 43.20 5.20 fE & HH AR T 1 53.93
TS B I AR 2 43.60
i) EqRE = 1 44.01 Il % ) PB=59.81  /QB=59.81
s B 1 44.49 prs 1 58. 63
[EICE g 1 41.87 10 1 58.38
2 59.73
+ B PB=58.62  /QB=53.51 3) 2 59. 81
Luur‘“ A n o1 53.51 tn/v—& 2 59. 00
L AR 1 51.48
¥R E ] e 1 56. 79 WAES7 Kk 4 9h#8) PB=59.64  /QB=59. 64
PR R MEE L (52[R)) T 1 52.23 drrnse-$% 1 55.31
W}Jiki;ﬂ#éwixA (#52mn) S 2) 1 61.96 Jrrnse=§% 5 1 57.52
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4.14 L ORHK B e 2 56. 32 129 & J& k\ﬂﬁw = 200 1 53.96
4.22  F L% 7 52.76 5.03 £ Jf SE:d 4 55.13
5.12 if HE ?4:’ & 4& -1 1 55.32 5.05 B L SSUVE: 3 1 47. 60
5.18 WL O&K UL -1 1 57.38 5.11 S R 6 12.87
5.12 & Y ulizitd 54) 3 41.16
[183] foh A 87. 5. 1 172- 77 (iFeEl - I ) 3 J& Lo #e 2) 1 59. 22
4 HETK SR B (5 11R) e I R 1 12. 26
4 zz o Sl Y L—J)— =31 =g 1 £ 1 38. 60
5.13 KR k= ot 4
3 90 4 %) P
[212] ®Fm Zsd 85.11.30 167- 7 (Gl RFRE s - ) UFN i wRY B
3.24 L HCEF BN/ R o0&
4.08 FEAETE KPR~ ~#Hmf*’* Trve=1% WK TR
.02 4 S Y L= — =01 Lerye—$ 3 R S LR
3 RE i) dorye-
RikKpetz e (F2m) T A% M 93 4.21 159- 70 (HAEK 1fifl) PB=52.40  /QB=52.45
i IR LR USE:d 1 48.78
[218] i &R 90.12. 21 177 78 (JUMHESTR 4 JK[5) PB=53. 51 Jit u)\j—x’r*i ESE 4 9 1 52.45
it 3 S s 2 I ] LH% Sl 3 7 52.13
2 (5 4 14) 3 A B R0 2 52.25
2 (WEOH) Lok 3
g PSS Ly | [164] )l 7 B%) PB=52.11  /QB=52.11
5.18 HZ DO EOAs 3 1. 15 BUKRK VE:d 1 41.28
2.12 HUKRBZ e 2 47.41
[228] mrﬁm 91 6.27 164- 64 (FEER{RK 3K4y) PB=53.50 =5 3. 11 HKPR Bt 2 46. 14
3 m%ﬁi)\g’?m#r(%‘unl) Bk 15) 1 53 3 ! B 2 45.77
j( FHE T 1 3 it g 2 43.19
T 5 3 i/ it i3 1 146.54
4.01 f&  Ji Bt 2 11.12
1JR[) PB=52.71  /QB=52.71 4.01 f& fiz 2 45.02
- 1 19.72 4.07 4 i 105 2 11.90
e 1 50. 56 4.08 BIEHE 5 9 11.20
L% 21) 4 52.55 4.14 RIEH Bt lel 50. 29
- 11 50. 44 4.22 RIEE iy 1 51.70
. 2 EJCAb 3 1 50. 64 4.29 ¥B/ it & 1 16. 62
5.18 %O/ UNFAE T 20P  49.97 5.03 4% JF i 8 50. 47
5.04 P/ #h Bt 2 11.68
[270] ==k HifE 77. 2.11 170- 67 (T X/ - EH1) PB=67.77  /QB=64.79 5.04 95/ it 223 8 34.93
4.29 JEESIR Ak SRS EE T AR D1 53.51 5.05 JRJEH & 5 11.15
5.13 BRI o ExRlisid 1 51.48 5.20 75 1% i3 3 11. 68
5.13 ERJI RRES ey 1 56.79 5.25 RJEH Y # 6) 1 54.37
5.26 FIRK rh,-am_aém 2 (5520 T 1 52.23 5.26 RIEH " KEIFEL % ) T 36. 98
5.26 UK mu\ku@mxl*(awﬂ a4 2) 1 61.96 5.21 RIeH=  KIRAFE L 9 11. 44
[283] (Liki 4 91. 5.24 166- 78 (FERfAK %) PB=53. 39 [247] IFHREAR 90. 217 171- 63 (KIKKTC - KB) PB=51.69  /QB=51.69
401 EEER  BRE RS (1) 4 3.18 Kffk RIERIBEEG 2 (55810 Sk d 5 44.96
414 BERIAR  mIUNFABES (F51A) Trve-1% 16) 4.14 KK kf&ksznixl‘(a%lﬂ SEid 24) 1 49. 32
5.05 BEEAK Fhﬁfw\m&b(aﬂ\u!) v 4.29 & & KBHE A — =0 LR 4 46. 26
5.18 fiZ ok JUMF 4 5.03 ¢ JF ] [T ESURS 13 6. 24
[304] ygin ¥ 9L @) PB=57.23  /QB=57. IR ET 8712, 7 160~ 80 (FESJRT AC - JIff) PB=55.48  /QB=53.87
Uil i 1 RAHBY RRTLERE (1) s 1 48.37
i 9 % i) [ e R B 10) 6 52.14
% 6) 1 ettt p FIRF IR %%421% ESSUEHS 1 49. 82
Terr-1% 2
Jense—1 1 RO HEFRE 87, 4.24 163- 60 (KIAKTC - KIR)
B 1 SIPNISN KAERBERE (F71R) B0
Tery— 6) 3 PPN KR GE8E) Sk
TR 5 % el ] 70 &
berve— 2 J& i Ba7E LR
1 B 1 JPNSN Mz:)\m 2 (F2lE) S
.20 HZ Ok TR B 16) 1

= OAYp 84, 4.26 171- 71 (7(%’7(TC/ 7’(;5) PB=60.08  /QB=60. 08

- ﬁ\ﬁi)F ij:f?k)\»]wf 'A(f%miiﬁ iz%v i 1 54.37
vAY =] > ARy F—A R ) 3 54.16
< t%‘b U *Xm 15%0)201 ZEIEEE$E> %9 3] [ ¢ TR0 3) 3 55. 97
J& e P 7 52 2 Sk 4 2 52. 64
[ 51] iEERHA 85 10.28 164~ 66 (% xﬂcﬂrr\A i) PB=61.56  /QB=61.14 IPNCSN RIERFEHR (FH20R) CSNUES 1 55. 54
3.26 E+K EE N e CE] Lo 3 1 56. 38
5.03 #& Jf a%ml’!\),r TR0 D1 61. 14 EA ALHE 91, 5. 4 160- 61 (AfkK 34%%) PB=52.07  /QB=52.07
uﬂ:)\% H AR 2 (740R1) ESnbE: 4 48) 1 46. 69
[ 75] Jik  f§ 91.11.22 162- 67 (i K 3K%y) PB=54.77  /QB=54.77
3.24 JlE K I\Lﬁ)\»}aiﬁA(ﬁsul> o % 1 51.32 [294] PSR 85.12.10 164- 64 (KFIAH A + Z8[) PB=57.19  /QB=52.11
4.21 FABLE VUK TR0 B 2 51.41 5.03 & Jf WJ[_W RV 10 49.91
4.29 Roed jt/\l).:'—L:Lk ESE 1 51.63 5.05 ¥/ i 75 LR T oo #2 2 49. 02
5.19 [H 7 B TR0 ¥ 5 1 54.77 5.20 J& I Bﬁﬂl%%!—] SRS 21) 3 49.95
[ 88] &} ZBH 92, 8.17 158- 60 (LK 2 5U#F) PB=51.16  /QB=51.16
4.08 74U SRR ALk GF 1) ESE 1 44.33
4.13 P Uk Z3 TR0 1 49.98
513 & & R0 15) 2 51.16
[ 94] At ‘=% 95 3.28 165~ 58 (gwsaﬁ dﬂ;ﬂ) PB=52. zz /QB=53. 14
3.18 #&  fh [ 1 U 47.
& D #x“ 1
i i::l(t()m 1r7
fit L0 B 1
i Uk 5
i £c100m ) 4
= #:100m 1s1
fit e 1
[} LR HEP
fiz] et 36) 1
161- 68 (HUKBRA  2KB0) PB=57.31  /QB=55.13
2 LYTIbik; 4 1 12,11
BRI 1 12.72
ESRE S0 1 37.75
TR0 1 50.18
CYRkisid 1 40.14
TR0 1 52.28
IhaLk 1 12.22
TR0 1 50.46
HORPRTH 3 LRTIbiR 4 1 12.82
Hi)\WXH‘T:fﬂuL TR0 1 52.61
B PE AT ( haLIE 3 12.32
BT A 2 (5 TRV 1 50.97
ORI 3 ¢ 1 13.41
3. B 1 44.32
. e 2 44.14
. e 1 12.35
. ¢ 1 46. 81
. e 2 40.03
. e 1 53.89
. ¢ 2 13.43
4. e 1 12. 80
4. e 2 38.33
4. e 1 44.07
4. 5 1 13.73
4. B 2 38.78
4. l e 0P 49.26
4.22 # 7 HJEJ L—H ==L R p kg 17) 8 13.78




